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1 PE3YJIbTATBI OCBOEHUA JUCHUITJINHBI

1.1 Pe3ynbTaToM OCBOEHHUs JUCHMIUIMHBL «lIpodeccnoHanbHblii MHOCTPAaHHBINA S3BIK»
JOJDKHBI  OBITH  CIIEAYIOUIME JTanbl (OPMHPOBaHUS Yy oOyuaromerocs OOMIEKYIbTYpPHOW U
obmenpodeccuoHaIbHONW KoMIeTeHIHH, mpeaycMorpeHHbix ®I'OC BO, a umenHo:

no [IK-2: BnameHue pa3nuyHBIMH CHOCOOAMH peIIeHUS KOH(JIUKTHBIX CUTyalUd MpU
IPOEKTUPOBAHUN MEXJIMYHOCTHBIX, TPYIIOBBIX M OPraHW3aLMOHHBIX KOMMYHHUKallUil Ha
OCHOBE COBPEMEHHBIX TEXHOJIOTHH yIpaBJIEHUS MEPCOHAIOM, B TOM YUCJIE B MEXKYJIbTYpHOU
cpelie, a UMEHHO:

no IIK-2.3 — BiajgeHue OpraHU3allMOHHBIMM KOMMYHMKALIUSAMU B MEXKYJIbTYpHOU
(MHOSI3BIYHOK) cpee.

no [IK-12: ymeHue opraHu3oBbIBaTh U MOJIEPKUBATh CBSA3H C JICJIOBBIMU IApTHEPAMH,
UCIOJb3Ysl CUCTEMBI cOOpa HEOOXOIUMON MH(POPMALUHU AJIs pacIIMpEHUsl BHEIIHUX CBS3eH U
oOMEHa ONBITOM IpU peaJu3alry IPOEKTOB, HANPABICHHBIX Ha pa3BUTUE OpraHU3alUuU

(mpeanpusATUsi, Opraia rocyJapcTBEHHOI0 WK MyHULIMIIAJIBHOTO YIPABIEHUS ), @ UMEHHO:

[1K-12.3: ymeHue opraHu3oBaTh M IMOJAJIEPKUBATH CBSA3M C JIEJIOBBIMU NapTHEpAMH —
MHOCTpaHIIaMH.
1.2 B pe3ynbTaTe OCBOCHUS AUCLUILIUHBI CTYIEHT JOJDKEH:

3HATh:

- UHOCTpaHHBIM s3bIK B O00bEME, HEOOXOAMMOM [UIsl TOJydyeHUs HHpOpMaluu
OOLIEKYJIBTYpPHOTO U MPO(deCcCHOHATBHO-/IEI0BOTO COAEPKAaHUS U3 3apyOe)KHBIX HCTOUHUKOB.

B pe3ynbraTte 00ydeHUS MHOCTPAHHOMY SI3BIKY CTYAEHT JIOJDKEH Ha COOTBETCTBYIOLEM
ypoBHe (kak mpaBuio, A2 win Bl - B 3aBHUcuMOCTH OT 3aUMKCHUPOBAaHHOTO B Hayalle Kypca
CTapTOBOTO YPOBHS BJIa/ICHUs JaHHBIM HHOCTPAHHBIM SI3bIKOM)

yMeThb:

- 8 obacmu ayoupoeaHus:

BOCIIPUHMMATh Ha CIyX M MOHUMATbh OCHOBHOE COOepicaHue HECIO0XHBIX ayTeHTUYHBIX
OOIIeCTBEHHO-TIOIUTUYECKUX, MYOIUIUCTHYECKUX (MEIUMHBIX) M TNparMaTHYeCKUX TEKCTOB,
OTHOCSIIMXCS K pa3jMyHbIM TUIaM peuyd (cooOlieHue, paccka3), a TakKe BBIIEIATh B HUX
SHAUUMYIO/3ANPAUUBAEMYIO UHPOPMAYUIO,

- 6 obnacmu umeHusl.
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MOHUMAaTh  OCHOGHOe  cooepiicanue  HECIOXKHBIX  ayTEHTHYHBIX  OOIECTBEHHO-
MOJIMTUYECKHUX, MyONUIIMCTUYECKUX M TMPArMaTUYecKuX TEKCTOB (MH(MOPMALMOHHBIX OYKJIETOB,
OpONTIOP/TIPOCTIEKTOB), 0J0TOB/BE0-CaliTOB; demaibHO NOHUMAMb OOIIECCTBEHHO-TIOJUTHYCCKUE,
nyonunucTudeckue (MEIMIHBIE) TEKCTHI, a Tak)Ke MUChMa JIMYHOTO XapakTepa; 6buloeismb
HAUUMYIO/3anpawiueaemylo  uHgopmayuilo U3~ TPAarMaTUYeCKUX  TEKCTOB  CIIPaBOYHO-
MH(OPMALIMOHHOTO U PEKJIAMHOTO XapaKTepa;

- 8 061ACMU 2080PEHUSL:

HAYMHATH, BECTH/TOJACPKUBATh M 3aKaHUMBATH OuUALO2-paccnpoc 00 YBUICHHOM,
MPOYUTAHHOM, OUAL02-00MeH MHeHUusMU W Ouanoe uHmepewvio/cobecedosanue TPU TPHEME HA
paboTy, coOnoas HOPMBI PEYEBOrO0 ITHKETa, NpPU HEOOXOJUMOCTH HCIONB3YysSd CTpPaTEruu
BOCCTaHOBJICHHsI c0Osl B TMpolecce KOMMYHHKAIMHM (mepecrpoc, nepedpasupoBaHue u Jp.);
BBICKa3bIBaTh CBOC MHCHHE, IPOCHOy; OTBeYaTh Ha TPEUIOKCHHE coOeceqHuKka (MPHHSITHE
NPEUIOKEHUS] WM OTKa3); JIeNaTh CooOujeHuss W BBICTPAUBATH MOHOLO2-ONUCAHUE, MOHOI02-
n08eCcmMB08aHIUe U MOHOJLO2-PACCYHCOEHUE,

- 8 0baCMU NUCbMA:

3aIONHATE POopMYAApbl U OAAHKU TIPATMATHYECKOTO XapaKTepa; BECTH 3dNUCL OCHOBHBIX
moulcned u ¢pakmos (M3 ayAHOTEKCTOB M TEKCTOB ISl UTCHHS), a TAKKE O@DOpMIsAmMb Me3UChl
YCTHOTO BBICTYIUICHUS/TIMCBMEHHOTO JIOKJaJa MO H3y4aeMod mpoOieMaTuke; MOJAepKUBAThH
KOHTAKThI TIPU TIOMOIIU 9/1eKMPOHHOU noumul (IUCAaTh dJIEKTPOHHBIE TUChMAa JIMYHOTO XapaKTepa);
0hOpMIIATH MPE3CHTAIIHH.

BJIA/I€Th:

a) OCHOBHBIMH OCOOEHHOCTSIMH TIOJHOTO CTWJISI TMPOU3HOIICHUS, HEOOXOAMMOTro  JJIs
KOMMYHHUKAIIHH;

0) nexcuueckuM MUHUMyMOM B oObeme 3000 nekcHuecKuxX eIWHUI], 00JaJaloluX HauOOJbIIeH
YaCTOTHOCTBIO W CEMAHTHUYECKOH IIEHHOCTBIO;

B) OCHOBHBIMHU CITIOCOOaMH CJI0BOOOpA30BaHUS;

T') TpaMMaTHYECKUMU HaBBIKAMU, HEOOXOIUMBIMH /I KOMMYHHKAIIUU HA HHOCTPAHHOM SI3BIKE Oe3
MCKa)XEHHS CMBICJIa B TUCAMEHHOW U yCTHOU (popme.

3aueT 10 WHOCTPAHHOMY SI3BIKY IPOBOJUTCS B JIBa dTala: 3a4eTHAs MMHCbMEHHas paboTa u
YCTHBI 3adeT. YCTHBIA 3a4eT MOXET B ClIydae HEO0OXOJIUMOCTH IPOBOIUTHCS B HECKOJIBKO

MNpUueMoOB, MO OTACIbHBIM ACIICKTAM. B xoape 3auera YCTAaHABJIMBACTCA COOTBETCTBUC YPOBHA
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pa3BUTUS yMEHUN YCTHOW pe€4M, IIOHMMAHMs Ha CIyX, IIOHUMaHMs [PU YTEHUU U IIMCbME Ha
MHOCTPAaHHOM $I3bIKE€ LIEJIEBOMY YPOBHIO COTJIacHO EBpONENCKON IIKajne BJIAJEHUS JaHHBIM
A3BIKOM, a TaKXe oyeHugaemcs 6 0annax 61aoeHue KadcoblM U3 YKA3AHHbIX pPeyesblX YMeHUU.
OtmeTKka «3a4TeHO» BBICTABIIACTCS CTYJEHTaM, YCIIEUIHO BBHIIIOJHUBIIUM HE MeHee 2/3 oT oluiero

YHCJIa 3aYETHBIX 3aIaHUH.
2 IEPEYEHDb OIIEHOYHbBIX CPEACTB

HwxenpuBoaMMbIEe OIIEHOYHBIE CPEICTBA OTHOCATCS K MMChbMEHHOM YacTH 3a4eTa.

2.1 JIns oueHKH pe3yabTaTOB OCBOCHHUS TUCITUTUIMHBI HCIIOBb3YFOTCS

- OIEHOYHBIE CPEACTBA MOATAMHOTO (OPMHUPOBAHUS PE3YJIHTATOB OCBOCHHS (TEKyIIas
aTTeCcTaIus);

- OIICHOYHBIC CPEJCTBA ISl 3aKITFOUUTEIILHON aTTECTAlUU 10 JUCIUTUIMHE (TIPOMEXKYTOYHAS
aTTecTamus).

2.2 K OLEHOYHBIM CpEACTBaM TIOATAIMHOTO (OPMHUPOBAHUS PE3YJIBTATOB OCBOCHUS
JUCIUATUTMHBI OTHOCSITCS

- TUTIOBBIE TECTOBBIE 3aaHusI (110 OYHOM Gopme 00yUeHUs ),

- 33/1aHUA 10 KOHTPOJIbHOU padoTe (1o 3a0uHON popme 00yueHus).

2.3 K OIECHOYHBIM CpPEACTBAM JUISI TPOMEXYTOYHOW aTTeCTallMd 10 JAHCIUIUINHE,
npoBoArMOI B opMe audPpepeHIInpOBaHHOTO 3a4e€Ta OTHOCSTCS:

- KOHTPOJIbHBIC BOITPOCHI.

3 OLHEHOYHBIE CPEACTBA MMO3TAIIHOI'O OOPMHUPOBAHUA
PE3YJIbTATOB OCBOEHUA INCHUIIJIMHBI

3.1. TecroBble 3aJaHUs HCIOJNB3YIOTCA JUIS  OLIGHKH  BIAQJCHUSA  CTYACHTaMU
po(hecCHOHANBFHO-/IEIOBOM  JIGKCHKOW; OCHOBHBIMU T'PAMMATUYECKUMHU KOHCTPYKLUSMHU JUIS
KOPPEKTHOTO TIOCTPOCHHS TPEJIOKCHUS HAa HHOCTPAHHOM  si3bIKe. TecTOBBIE  3aaHUs
MPElyCMAaTPUBAIOT BHIOOP MPABHIILHOTO OTBeTa M3 3-4 BapuaHTOB oTBeTa. OIeHKa OMpeaesieTcs
MPOLEHTOM  TPaBUIBHBIX  OTBeTOB: «oTimyHO — 90-100%; «xopomo» -  75-89%;

«yZIOBJIETBOPUTENBHOY - 60-74%; «HEeynOBIETBOPUTENLHOY - 59% U MeHee.
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Ta6ymma 1 - CucreMa OI[eHOK M KPUTEPHUH BBICTABJICHHSI OLICHKU
Cucrema 2 3 4 5
OIIEHOK 0-40% 41-60% 61-80 % 81-100 %
«HEYJIOBJICTBOPHU- «YIOBJICTBOPH-
TOIEHON TOIEHOR «XOPOIIIOY «OTITHYHOY
Kpurepuii «HE 3a4TECHO» «3a9TCHO»

CHCTEMHOCTD U
MOJTHOTA 3HAHUU
B OTHOIIICHUU

OOuaaeT yacTrud-
HBIMH ¥ Pa3pO3HEH-
HBIMU 3HAHUSAMH,

O0nagaeT MUHH-
MaJIbHBIM HabopoM
3HaHUH, HE00XO0-

Oo6nagaer Habo-
pOM 3HaAHUH, J0-
CTaTOYHBIM UIA

O06amaeT MmoHo-
TOM 3HAHUU U CH-
CTEMHBIM B3IUISLI0M

HpEAJIOKEHHBIN all-
TOPUTM, JOITyCKaeT
OmMnOKH

M3y4aeMbIX KOTOpBIE HE MOXKET JUMBIM JJIS CH- CHUCTEMHOT'0 Ha U3y4aeMbli
00BEKTOB Hay4HO- KOPPEKTHO | CTEMHOIO B3IJIAAa | B3IUIAJA HA U3Y- 00BEKT

CBSI3BIBATh MEXKAY Ha U3y4aeMbli YaeMbIid O0BEKT

€000/ (TOJIBKO HEKO- | OOBEKT

TOPBIE U3 KOTOPBIX

MOJKET CBA3bBIBATh

MeXIy cOO0H)
OcBoeHue B cocrosinuu pewate | B cocTosiHuu pe- B cocrosinum pe- | He Tonbko Bnageet
CTaHAapPTHBIX TOJIBKO Q)paFMCHTI)I 1aTh IMOCTaBJICH- maTh IIOCTaBJICH- AJITOPUTMOM U 110~
aJITOPUTMOB ITOCTABIIEHHOM 3a- HBIE 3371244 B CO- HBIE 33JJTa4{ B CO- | HUMAET €ro 0c-
peUICHUA Jadu B COOTBETCTBHUHN | OTBETCTBHUH C 3a- OTBETCTBHMU C 3a- HOBBI, HO Y ITPEA-
npod)ecCuoHaNbH | C 3aJaHHBIM aJro- JaHHBIM allTOPUT- | TAHHBIM aJlroO- JlaraeT HOBBIE pe-
BIX 3a7a4 PUTMOM, HE OCBOMJI | MOM PUTMOM, ITOHH- IIEHNS] B paMKax

Mac€T OCHOBBI
MMPEAIIOKECHHOT O

anropuTMa

IIOCTaBJICHHOH 3a-
nauu

32. C HCJIIBKO KOHTPOJIA KadeCTBa CaMOCTOSTEIIbHOU pa6OTI>I CTYACHTOB-3d09YHHUKOB

3alUTAaHUPOBAaHA KOHTPOJIbHAsE paboTa. 3adanue no KOHMPONbHOU pabome, TPELyCMaTPUBAET

OTBCTBI Ha JIBa TCOPCTUUCCKHUX BOIIPOCA U3 NCPECUHHA TEM KOHTpOJ’IBHOﬁ pa6OTLI N BBIIIOJTHCHUC

npaktuaeckoro 3aganus (Ilpunoxenue Ne 2), a Takxke OTBETHl Ha TECTOBBIE BOIPOCHI MO MEPEUHIO

TUTIOBBIX TecTOBBIX 3afanuii ([Ipunoxxenue Ne 1).

Cucrema OLICHUBAHUA U KPUTCPUHU OLCHKH KOHTpOJ’ILHOfI pa6OTH IMPEACTaBJICHLI B Tabm. 2.

Tabnuna 2 — CucremMa U KpUTEpUHU OLIEHKH KOHTPOJIbHON padOThI
Cucrema 2 3 4 5
OIICHOK «HEYJIOBJIETBOPHU- «YIOBJICTBOPH-
«XOPOIIIOY» «OTIHUIHO»
TEILHOY TEIHHOY

Kpurepuii «HE 3aU4TEHO» «33aUTECHO»

He B cocrostnumn Mosket HaiTi He0O- | MoKeT HalTH, MoskeT HanTH,
Pabora ¢ HaxOJIUTh HEOOXO- XOJUMYI0 HH(GOPMA- | HHTEPIPETUPOBATH | CHCTEMAaTH3UPOBATh
uHpopMarueit JTUMYI0 HHGOPMAIIHUIO, |IIMIO B paMKaXx M0- | M CHCTEMATH3UPO- |HEOOXOAMMYHO HH-

00 B COCTOSTHUHU CTaBJICHHOM 3a/1a4yd | BaTh HEOOXOIH- (hopmaruio, a TakKe
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Cucrema 2 3 4 5
OLICHOK «HEYIOBJIETBOPHU- «yZIOBJETBOPHU-
«XOpOILIO» «OTJINYHO»
TEIBHO» TEIBHOY
Kpurepuii «HE 3aYTEHO «3a4TEHO»
HaXOJUTh OTJENbHbIE MYI0 UHQOPMAIHIO | BEISIBUTH HOBBIC,
¢parmenTs! HHPOP- B PaMKax MOCTaB- | OTIOJIHUTENBHBIC
MalluH B paMKax I1o- JICHHOH 3a1a4u WCTOYHUKHU HHOP-
CTaBJICHHOW 3aJ1a4H Malli B paMKax
ITOCTABJIEHHOH 3a-
Jlauu
He moxet nenatb B cocrosinum ocy- | B coctosiHuu ocy- |B coctosiHuu ocy-
Hay4YHO KOPPEKTHBIX |IIECTBIIATH HAYYHO |IIECTBIATH CHCTE- |IIECTBIATH CHCTEMa-
BBIBOJIOB U3 UMEIO- KOPPEKTHBINM aHAIU3 | MaTUYECKUH U TUYECKUH U HAy4HO-
IIUXCS y HETO CBENle- |MPEAOCTaBICHHOW  |HAY4YHO KOPPEKT- |KOPPEKTHBIN aHAIN3
Hayunoe HHUU, B COCTOSIHUH nHpOpPMAaLTUH HBII aHaJIN3 IIPENOCTaBICHHON
OCMBICIICHUE MIPOaHAIN3UPOBATH NPENOCTaBICHHON |uH(pOpManuu, Bo-
M3y4aeMOro TOJIBKO HEKOTOPBIE U3 UH(pOPMAIIH, BJIEKAET B UCCIIENO-
SIBIICHUS, HMMEIOUINXCS Y HeTOo BOBJIEKAET B UC- BaHHE HOBBIE pelle-
mporecca, CBEICHHI CJIeIOBaHNE HOBBIE |BAHTHBIE ITOCTAB-
00BbeKTa pEJIeBaHTHBIE 3a-  |JIEHHOM 3ajaye JaH-
Jlade JaHHbIe HBIE, TIpeIaraet
HOBBIE PAKYPCHI
IIOCTaBJIICHHOH 3a-
Jlaun

33 I[OHyCK CTYACHTA K HpOMG)KyTO‘-IHOﬁ arreCTalv 1Mo JUCHUIIIMHC IIPEAYCMATPpUBACT

MMOJIOKUTECIJIBHBIC OLICHKHU I10 PE3YyJIbTaTaM TCCTUPOBAHUS, YCIICHIHYIO 3alIUTY KOHTpOJ’IBHOﬁ pa6OTBI

(151 3a0uHOM (popMbI 00yueHust). CTyIeHT, UMEIOIINN HEYAOBIETBOPUTENBbHYIO OLIEHKY (HE3aueT)

[0 pe3yjabTaTaM TECTHUPOBAaHUS (KOHTPOJIbHONW paboThl) B CEMECTpE, MPOXOJUT TECTUPOBAHUE

(BBITIOJTHSET KOHTPOJIBHYIO PabOTY) MMOBTOPHO.

4 OLIEHOYHBIE CPEJICTBA JIJISI IPOMEXYTOUYHOMN ATTECTALIUA

OTMeTKa «3a4TEeHO0» BBICTABIIETCS B KAYECTBE CYMMAapHON OLEHKU YCIIEIIHO paboTalomuM

CTyJICHTaM B 3a4eTHble KHUKKH M BeIOMOCTH JeKaHaTa (s cAalonux B O60jee Mo3IHUEe CPOKH

— B HANpaBJIeHHsl HA 3a4eT 32 MOANMHUCHIO JeKaHa) 1Mo 3aBepiieHud | cemectpa oOydeHus. B

yYeTHbIE KapTOUYKH TpYyNIbl W Jpyrue pabouume TOKYMEHTHI Kadeapbl (Hampumep, JHUCTHI

aTTeCTalliy) BBICTABISIOTCA Oughpepenuyuposannvie ommemku (5, 5-, 4+, 4, 4-, 3, 3-) no
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Kax)@coomy oOueHueaemomy acnekmy, a Takke oOmas OIeHKa, KOTOpas NpEeACTaBiseT coOOoMu
CPEIHIO0 MJIU NTPe00JIaIatoLIy0 OTMETKY.

OTMeTKOI «HeyI0BJIETBOPUTEJBHO»  (2) OLEHHMBAETCS TAaKOE COCTOSHUE OCHOBHBIX
YMEHUI UHOSI3bIYHON PEYEBOM JIEATEIbHOCTH CTYACHTA, KOTOPOE HE MO3BOJISIET €EMY OCYILECTBIATh
KOMMYHHUKAIIMIO Ha HWHOCTPAHHOM S3bIK€ B HamOoyiee THIUYHBIX CHTyallusix  OBITOBOTO,
COLMAJIBHO-KYJIBTYPHOI'O ¥ MPO(ECCUOHAIBHO-EI0BOI0 OOILEHHs, 8 UMEHHO:

- HEYMEHHE CTyJEHTa IO IPOLIECTBUM HOPMAaTUBHOIO BPEMEHHM  IIOATOTOBKM BBIPA3UTH Ha
MHOCTPAaHHOM SI3bIKE B YCTHOH Qopme ofmee coaepkaHue TeKcTa (Tepecka3d HEMOHATEH
CIIyIIAIONIEMY B CHJIy HAJIW4Hsl OOJBIIOTO0 KOJMYECTBA OMIMOOK WIM TO JPYTUM IMpPHYUHAM,
Hepecka3 He OTpakaeT WJIM HCKakaeT 0oJiee MOJIOBHHBI (DAKTOB MPOUYUTAHHOTO TEKCTA, CTYIEHT
OTKa3bIBaeTCs OT MIEPEcKasa);

- HEyMEHHUE CTY/ICHTA aJIeKBaTHO pearupoBaTh HA WHOCTPAHHOM SI3bIKE Ha OOpALICHHYIO K HEMY
MHOSI3BIYHYIO peYb, CBS3aHHYIO ¢ 00CYKJACHHEM NPEAYCMOTPEHHBIX MPOTPaMMON MOBCEIHEBHBIX U
npodecCHOHATIBHBIX TEM;

- HEyMEHHEe CTyJeHTa c(HhOopMyIUpOBaTb Ha MHOCTPAHHOM S3bIKE M BBIPA3UTh IMUCbMEHHO CBOE
MHEHHE WM WHOE COJIEpXKaHWEe, MPEIYyCMOTPEHHOE TPEOOBAaHHMSMU 3a4eTa COOTBETCTBYIOLIETO
ceMecTpa.

- HEyMEHHE CTYyJEeHTa IMOHATh (MOJB3YsCh CIOBApEM) TEKCT  CTPAaHOBEIYECKOr0, Hay4HO-
HOMYJISIPHOTO COJiepKaHUs B 0ObeMe U B T€UEHHE BPEMEHH, MPEyCMOTPEHHOTO TPEeOOBAHUSMU
3ayeTa COOTBETCTBYIOLIETO ceMecTpa (B MUCbMEHHOM IEpEeBOJE MCKa)KeHa IMOJIOBMHA MU Ooliee
COJIep’KaHusl TEKCTa, IPU YCTHOM IE€pPEeBOJIE 3By4YaT OECCMBICIEHHBIE WM HE COOTBETCTBYIOLIUE
COJIEp’KaHUIO TPOYUTAHHOTO (pa3bl, IPETIOKEHHUS).

Ha npomexyTouHbBIX dTamax KOHTpoOJs oOOmas OTMETKAa «HEYAOBJIETBOPUTEIBHOY
BBICTABIIIETCS IPU HAIMYUM Y CTYJEHTa Ne(PHUIMTA MHOA3BIYHBIX PEUEBBIX YMEHHH MO ABYM WIH
OonblIeMy 4HCIy BbIIIEHAa3BaHHBIX KpuTepueB. I[lo 3aBepumieHunm Kypca [Uisl MOJTYYEHHS
MOJIOKUTEIBHON OTMETKH CTYAEHTY HE0OXOAMMO 001a/aTh AOCTATOYHBIM IS OOILEHUSI YPOBHEM
pa3BUTHs 0a30BBIX YMEHUI BO BCEX BHIaX PEUEBON JAEATEIbHOCTH.

B xozme 3aueta 1m0 HMHOCTPAaHHOMY SI3BIKY OTMETKa «HEYJOBIIETBOPUTEIHHO» OOBIYHO
BBICTABJISIETCA CTYACHTY, KOTOPBIM HE CHOpaBWiCsS Oojee dYeM C TIOJOBHHOW 3aJaHUM,

MPETYCMOTPEHHBIX 3aU4E€THBIMU TPEOOBAHUSIMH.

Joxymenm ynpasnsemcs npocpammuvimu cpeocmeamu TRIM-QM
Ilposepv akmyanvrocms epcuu no opueunany, xpanauwemycsa ¢ TRIM-QM
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K 3auery mo MHOCTpaHHOMY $3BIKY JOIIYCKAlOTCS BCE CTYIEHTBI, YCIICIIHO CHaBIIUE
00s3aTeNbHBII MUHUMYM YUeOHBIX 3aJJaHUIl ceMecTpa: KOHTPOJbHbIE PabOThl, MHANBUAYAIbHOE
YTEHUE, COUYMHEHUS, IPE3CHTALIMH U T.II. 3a4€T 110 UHOCTPAHHOMY SI3bIKY MPOBOJUTCS B J[Ba 3TaIa:
3a4yeTHas MUChbMEHHAs paboTa M yCTHBIM 3aueT. YCTHBIM 3a4eT MOXKET B Cllydyae HEOOXOAUMOCTH
IIPOBOJIUTHCS B HECKOJBKO IIPUEMOB, IO OTACJIBHBIM aclekTaM. B Xone 3adera ycTaHaBIMBaeTCA
COOTBETCTBUE YpPOBHS Pa3BUTHA YMEHHUW YCTHOM peud, NMOHUMAHUsA HA CIyX, [NOHUMAaHUS IpU
YTEHUU W IHCbMAa HA MHOCTPAHHOM S3bIKE IIEJIEBOMY YPOBHIO COIJIacHO EBpOIEHCKON IKaie
BJIQJICHUS JITAHHBIM SI3BIKOM, a TaKXKE OyeHnugaemcsi 6 6AN1aX 61A0eHUe KANHCObIM U3 YKA3AHHBIX
peuesbix ymenuu. OTMETKa «3auTE€HO» BBICTABIISIETCS CTYAEHTaM, YCIEUIHO BBIIOJHUBLIMM HE
MeHee 2/3 oT 00LIero unciia 3a4eTHIX 3aJaHuiH.

[To 3aBepmenuto kypca «lIpodeccuoHanbHBIE HHOCTPAHHBIM  SI3BIK»  POBOAUTCSA
QG GepeHIIMPOBAHHBIN 3a4eT, IENBI0 KOTOPOTO SBJSIETCS OLIEHKA B Oayu1ax ypOBHS MPAKTUYECKOTO
BJIQ/ICHUS yKa3aHHBIMU BBIIIE YETHIPbMS BUIAMH PEUEBOM JIEATENbHOCTH, @ TAK)XKE KOMIUIEKCHAas
OLICHKA €ro MHOA3BIYHON COIMOKYJBTYPHOM KOMIIETEHTHOCTH, B II€JIOM, M YyCTaHaBJIUBAETCA
YpOBEHb BIIAJICHUS M3y4aeMbIM SI3bIKOM Ha MOMEHT OKOH4YaHus Kypca. [duddepeHunpoBaHHbIN
3a4eT TakXKe MPOBOJUTCS B JiBa dTama (MUCbMEHHBIM W YCTHBIN). B 3aueTHYI0 KHMKKY CTyJIE€HTa
BBICTaBJIsI€TCS OaJIbHAs! OLIEHKA.

Jlnst monyyeHus TOJIOKHUTENIBHOW OLIEHKM IO pPe3ysbTaraM OIpPEAeICeHHOro Mepuoa
0o0y4YeHMsI CTYJEHTY HEOOXOJUMO MPOJEMOHCTPUPOBATh - B XOJE 3ayeTa WIM HHOU (OpMBI
pPYOEKHOTO KOHTpPOJS - TaKOW YPOBEHb BIAIACHUS KAMCObIM U3 Uemblpex OCHOBHBLIX 6UO06
UHOA3BIYHOI peuesoll deamenbHocmu (TIOHUMaHUE Ha CIyX, YCTHas pedb, YTEHUE M IHUCHMO),
KOTOpBI  oOecreynBaeT YCHEIIHOE YyCTHOE M NHCbMEHHOE o0lieHne B  Haubolee
pacTpOCTpaHEHHBIX CUTYallUSIX MOBCEIHEBHOTO U COIMAIBLHO-KYIBTYPHOTO OOIIEHUSI.

OTMeTKa «O0TJIHYHO» (5) BBICTABISIETCA B CIIy4ae C60000H020 61a0eHUsA CTYJEHTOM YCTHOM
Y NMUCbMEHHOW PEUENTUBHON U MPOAYKTUBHOM MHOSI3BIYHOM PEUYbIO, B MPOLECCE KOTOPOH CTYAECHT
HE JIOMYCKAaeT CEPbE3HBIX I'PaMMaTHUECKUX, JIEKCHUECKUX U CTHJIMCTUYECKHX OMIMOOK, a TaKkKe
OTIepUpPYEeT MOJHBIM HA0OPOM JIEKCUKO-TPaMMATHYECKHX U KYJIbTYPHO-TIPArMaTHYECKUX CPENICTB
OTIpeNIeNIEHHOr0 (LIEJIEBOT0) SI3BIKOBOTO YPOBHS, COIJVIACHO OOIIEeBPONENHCKOM IIKajge OLEHKH
YPOBHEW BIAJEHUS MWHOCTPAHHBIM SA3BIKOM. /ISl CTyZIE€HTOB NPOJOJDKAIOIIMUX TPYII K MOMEHTY
OKOHUYaHUsl Kypca «/HOCTpaHHBIN S3bIK» 3TO JIOJKEH OBITh, KaK MpPaBUiIo, YpoBeHb Bl u BhIIIe.

JUis CTy/IeHTOB HAUMHAIOIIMX TPYII, Kak MUHUMYM, — Al / A2.

Joxymenm ynpasnsemcs npocpammuvimu cpeocmeamu TRIM-QM
Ilposepv akmyanvrocms epcuu no opueunany, xpanauwemycsa ¢ TRIM-QM
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B ciydae nCKITIOUMTENBHO BBICOKOTO Ka4ecTBa M CBOOOIBI MHOSI3BIYHON PEUH, MPAKTHUECKH
IIOJTHOT'O OTCYTCTBHSI OIIMOOK CTYJIEHTY MOXET ObITh BBICTaBJIEHA OTMETKA «OTJIIMYHO C ILIFOCOM»
(5+). Takue cTyneHThI, KaKk MPaBHIIO, COCTABIAIOT He Oosiee 1-2 % oT oOuiero 4ucia CTyIEHTOB
noroka. X ypoBeHb BiaJieHHsI WHOCTPAaHHBIM S3BIKOM HE MOKET ObITh HUke Bl+. Ilpu BmosHe
CBOOOTHOW MHOS3BIYHOM peuH, aJleKBaTHO MPUMEHIEMOM BO BCeX TpeOyeMbIX (popMax U CUTyalusx
OOIIEeHus,, HO HE JMIIEHHOH HEKOTOPHIX HErpyObIX OIIMOOK, CTYAEHTY MOXET BBICTaBJIATHCS
OTMETKa «OTJIMYHO C MHHycoM» (5-). B cilyuae 3HauUMTENBbHOrO KOJIMYECTBA «ILIEPOXOBATOCTEH»
npyu CBOOOJHOM TOHUMAHHUU M BBIPAKECHUU MBICIICH B OOJBIIMHCTBE CIIy4aeB NPEAOYTHUTEIbHA
OTMETKA «XOPOIIO C ILTF0OCOMY (4+).

OTMeTKa «XOpOILI0» BBICTABIIAETCA CTYIEHTY HPH [J0CTATOYHO BBICOKOW CTEleHH
BJaJeHUs] BceMH (OpMaMU YCTHOW M NMUCHbMEHHOW MHOSI3BIYHOI peud, B Ipolecce KOTOPOH
CTYACHT JOIyCKaeT HEOOJBIIOE KOJINYECTBO JIEKCHYECKHX, T'PAMMATHYECKHUX, CTHIMCTUYECKHUX
omuOOoK, OJTHAKO OUIMOKH, KaK MPaBWIIO, HE NPUBOIAT K cOOsiM B mporecce odmenus. B ciydae
OTJIMYHOTO BJIaJICHUs OJHUMH BHJIAMH PEUEBBIX YMEHHUH (HanpuMep, yCTHOM peublo U IOHUMaHUEM
CO ciyxa) npu 6osee c1aboM pa3BUTUHU OCTAIBHBIX (HanpuMmep, HOHUMaHUS NPU YTEHUH CIIOKHBIX
HEaJaNTHPOBAHHBIX CHEIUAJIbHBIX TEKCTOB), CTYIEHTY  BBICTABIIETCS OTMETKA «XOpPOLIO C
MHHYCOM» (4-) WJIH «yJOBIETBOPUTEIBHOY (3).

BricTaBneHne oTMeTkH 4 M 5 CTyAE€HTaM, HE BJIAJCIOLIMM YCTHOW PEYbI0O Ha MHOCTPAaHHOM
A3BIKE, SBIIETCS HEIOIYCTUMBIM.

OTMeTKa «yd0BJETBOPUTEIbHO» BBICTABIAETCS CTYAEHTAaM, MPOJAEMOHCTPUPOBABIINM
MOCPEACTBEHHOE BJaJIeHNE OOJIBIIMHCTBOM YMEHUN UHOSI3BIYHON peun. CTyAEeHTY, TOMYCKAIEMY
3HAYUTENIbHOE KOJUYECTBO OMIMOOK, KOTOPbIE NEPUOANUECKH MEIIAIOT YCIEITHOW KOMMYHUKAIIUH,
MOJKET OBITh BBICTABIICHA OTMETKA «YJIOBICTBOPUTEIHHO ¢ MUHYCOM» (3-).

B cnywae, ecaum y4eOHBIM IJJaHOM TIO 3aBEpIIEHUMH  Kypca IPEyCMOTPEH
HeAU(pPEepeHIMPOBAHHbIN 3aueT, YCHEIIHOCTh OOYYEeHMsI CTyJeHTa MOKET ObITh 0003HaueHa
OTMETKOW «3auTeHO», KOTOpas COOTBETCTBYET BCEM MEPEUUCICHHBIM BBIIIE YCHEIIHBIM
QG pepeHIIMPOBAHHBIM OTMETKAM OT «YAOBJIETBOPUTEIBHO» 10 «OTIIMYHOY.

Bce cTyneHThbI, yCHENIHO OCBOMBIIME JUCLUUIUIMHY <I€J0BOM WHOCTPAHHBIA SI3BIK» H
MOJIYYUBIIHME 1O pe3yJbTaTaM 00y4yeHus: OTMETKH 3, 4, 5 WK «3a4TE€HO0», JOJKHBI OBITh CIIOCOOHBI

B TOW WMJIM MHOH CTENEeHU YCTHO U TUCBEMECHHO O6II_[aTI)C$I Ha U3y49a€MOM MHOCTPAHHOM SA3BIKC.

Joxymenm ynpasnsemcs npocpammuvimu cpeocmeamu TRIM-QM
Ilposepv akmyanvrocms epcuu no opueunany, xpanauwemycsa ¢ TRIM-QM
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5 CBEJAEHHSA O ®OHJAE OINEHOYHBIX CPEJACTB H EI'O COI'JIACOBAHHH

@®oHJ OUCHOYHBIX CPEACTB JUIA mwmnuu no JHCIMIUTHHE mnpeicTasaser coGoH
npuiokenue k paGouet nporpamme mucuummasl «[lpodeccronanbubilt HHOCTPAHHBIR H3BIK»
obpasosarenbHol nporpammsl Gakanaspa no HanpasieHHIO noarotosku 38.03.02 - MeHemkMeHT
(npodns nporpammel — « MapKeTHHI» )

Astopul douna — 3as. kadenpoit, x.¢.H. Kodanosa I'.Il; k.¢.H., c1. mpenosasarens
Conparosa C.U,

@oH/1 OlEHOYHBIX CPEJICTB PACCMOTPEH W ON00peH Ha 3ace/aHHH KadeApbl HHOCTPAHHBIX
s361koB (mpotokost Ne 06 ot 28.01.2016 1.)

QOH/I OLUEHOYHBIX CPEICTB PACCMOTPEH H 006PeH Ha 3acelaHHH METOJHYCCKON KOMHCCHH
¢akyasTeTa ryMaHuTapHO#K noaroToBku (mporokon Ne 06 or 29.01.2016 r.)

@oH/l ONEHOYHBIX CPEACTB JHCHMIUTHHB AKTYAIH3UpoBaH. M3MCHCHMs, AOMONHEHHA
paccMOTpeHsl M oa00peHsl Ha 3acefaHHH Kadeaphl WHOCTPAHHBIX A3BIKOB 19 . ﬂ.zols r.

(upotokon Ne Y )
3aseayrouuit kageapokt {/éé/’/ o~ I'.I1, Kodarnosa

Hamenenus, nononsenus (oHAA OLCHOYHLIX CPEACTB JHCUMIUTHHBI PacCMOTPEHBI H

ON00peHsl Ha 3aCeJaHHH METOAMYECKOH KOMHMCCHH (akyIbTeTa IyMAHHTApHON MMOATrOTOBKH

2 . 942018 . (npotoxoa Ne 04 ) i

IMpencenarens kKOMHCCHH o B.B. 'amira

Hamerenns, nononHenHs (OHAA OUSHOYHBIX CPEACTB JHCIHILTHHBI PAcCMOTPEHBI M

ofobpeHs! Ha 3acejaHWH MeTogudeckofi xomuccuu MHCTHTYTA OTpacieBoll IKOHOMHKH U

ynpasnerus J(; . 0\.2018 r. (mpotokon Ne 10 )

JAMpeKTOp HHCTHTYTA,
NPeACeAaTEe/Ib METOAHYECKOH KOMHCCHH é A.I'. MuanakansH

CornacoBaso ﬁ@:@”
3amecturens HadansEuka YPOIICTI 3 A.U.Kaesa

[AOKYMEHT MOANMCAH 3/IEKTPOHHO# NOAMMCHIO
®rs0Y BO «KI'TY»
CBEJEHUA O CEPTUOUKATE 3N
upuKar: &

Cep

01ff058c007bae2c8149¢7712c28ce8469

Braneneu: MebHHKOBa BHKTODHS ANeKCaHADOSHa
Reficromenen: ¢ 18.04.2022 10 18.04.2023 S0

Joxymenm ynpasnsemcs npocpammuvimu cpeocmeamu TRIM-QM
Ilposepv akmyansnocms eepcuu no opueunany, xpauswemycsa ¢ TRIM-QM
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[punoxenne Ne 1
K1 3.1
THUIOBBIE TECTOBBIE 3AJAHUSI IO JUCLUIIJIMHE
«IMPO®ECCHUOHAJILHBIA HHOCTPAHHBIN SA3BIK»
AHTJIMUCKUM S3bIK

SECTION 1: VOCABULARY

1 Change the form of the words in the box and complete the sentences.

For example: manage — manager, satisfied — dissatisfied

manage / satisfied / account / inform / recruit / found / represent / shop / consult / friend /

practical / respect

© 0O N oo o A W DN P

I’'m the Marketing for a travel company.

Online is easier and faster than driving to the supermarket.

Your plan won’t work — it’s totally

technology (IT) makes it easy to store huge amounts of data.

In Japan, employees are more of their bosses than in my country.

I work in the Finance department as an

We’re rather with your performance I'm afraid.

I got the job through a agency.

The of our company set it up twenty years ago.

10 We use a management firm to help us with difficult decisions.

11 Your assistant always smiles and is very with visitors.

12 There’s a Sales on the phone. She wants to sell you some stationary.

SECTION 2: LANGUAGE

2 Each sentence has one mistake. Re-write it correctly.

13 | am often work at weekends.

14 He go on holiday twice a year.

15 Currently they are visit the factory in Kyoto.

16 Now people isn’t staying with the same company for life.

Joxymenm ynpasnsemcs npocpammuvimu cpeocmeamu TRIM-QM
Ilposepv akmyanvrocms epcuu no opueunany, xpanauwemycsa ¢ TRIM-QM
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17

18

19

20

21

22

23

24

25

Which department do you running?

Do you have many data on web users?

I’d like some informations on trains, please.

Do you have a lot work to do?

How much employees work here?

Would you’d like a coffee?

Let’s me carry your bags.

You can open the door for me, please?

I could to make a copy for you.

SECTION 1: VOCABULARY

1 Write in the words below in sentences 1-7.

image / investment / house / campaign / budget / market / labels

~N oo o A W DN P

We need to define our target

Brand is the opinion people have about a brand.
Their new advertising uses a famous actor.
Haute couture is the fashion ’s loss leader.

| only wear designer from lItaly.

What do you think the return on our will be?
We’re on a very tight so don’t spend too much.

2 Match the two halves of the sentences. Write your answers here:

8 9 10 11 12 13 14 15

8 He set a its second satellite to Venus last night.
9 The European Space Agency launched b money to start a new business.

10 I’d like to borrow c raise the money somehow.

11 We’ll have to d me the money.

12 We didn’t make e up the company in 1981.

Joxymenm ynpasnsemcs npocpammuvimu cpeocmeamu TRIM-QM
Ilposepv akmyanvrocms epcuu no opueunany, xpanauwemycsa ¢ TRIM-QM
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13 You always take f the competition.
14 The bank won’t lend g a profit for the second month in a row.
15 I think this new product can beat h risks in business.

SECTION 2: LANGUAGE

3 Change the word in brackets (if necessary) to complete the sentences.

16
17
18
19
20
21
22
23
24
25

26

The most (success) brand in the world is Coca-cola.

Paris has the (big) number of talented designers.

It’s (easy) to use the lift than the stairs.

Flying is (cheap) than it was twenty years ago.

Money isn’t as (important) as happiness.

After having moved to Los Angeles, | (rent) an apartment in the centre.
In 2003 she (sell) over three thousand units.

The warehouse said they (not, have) any in stock.

When (you, arrive) in Barcelona? Was it yesterday or the day before?
Ted Foster hopes that he might (be) the first person to send tourists to the
moon.

Most people (not, will) be interested because it’s too expensive.

SECTION 3: READING

4 These sentences are missing from these tips for new businesses. Decide where they best fit.

a
b

c
d

(¢]

And not just for one day

Don’t give up — learn from them.
Try your local bank, for example.
Use their expertise.

It can’t only be about profit.

But most of all have fun

Who are they?
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A good idea
A good business begins with a good idea. (27) . When you

wake up the next morning, it must still be a great idea!
Investment
If you don’t have the money to start up your great idea or you don’t want to sell your

house, there are a number of places to start. (28)

Contacts
See anything and anyone as an opportunity. Talk to friends and family about your idea.
Talk to your potential suppliers. (29)

The competition
(30) What do they do well? What can you do differently?
Find out everything about them.

Problems
All businesses have problems and they don’t disappear as you get bigger.

(31) Find out why they happened and deal with them better

next time.
Passion

For a successful business you need to care about the idea. (32)

As one entrepreneur says. ‘Feel passionate about what you’re doing.
(33) J

SECTION 4: CAREER SKILLS

5 Someone at work is talking about a new office desk. Complete their description with the
phrases in the box.

After checking / To begin / lots of / my opinion / Then see / ideal for / made of / use it

In (34) it’s quite stylish because it’s (35)

good quality wood. And it’s (36) this office because it’s small. You can

(37) for your PC or laptop and it’s got (38) space for

books and papers. You assemble it yourself. (39) with, read the instructions.

(40) if you have all the parts. (41) , You can put it up.

SECTION 5;: WRITING
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6 Write a memo to the senior management of VW about this car:
- Project name: K2

- Large, stylish executive car.

- For business people and also for families.

- Excellent technology with lots of electronic devices

- Price range: 60,000-105,000 euros

- Target age group: People over forty

7 Recommend this product for development and say why. Complete the memo below.

(42)  To: Senior
(43)  Subject:
(44)  We think that this car

(45)  Firstly, it is suitable for

(46)  Secondly, it’s also ideal for

(47) It looks

(48) and contains

(49)  We think it will sell for

(50) It may also be attractive to
people

SECTION 6: LISTENING

Track 3

8 Alan Martin is talking about how to set up a business. Are these statements True (T) or
False (F)? Listen twice.

51 Alan tells people it’s a good idea to start a new business. ()

52 Only 20% of new businesses succeed. ()

53 Businesses fail because people don’t work hard enough. ()

54 1t’s a good idea to find out more about what the market wants. ()

55 Find out if people want your product or service and also if other companies also offer it. ()

56 A business plan helps to get money for the new business. ()
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57 The plan will include your adverts. ()
58 The plan also needs to show you know how to manage the company. ()
59 The most important thing is to have lots of different customers. ()

60 A successful business will have customers who always buy from you. ()

SECTION 7: SPEAKING

(61-70)

9 Prepare a description about a company you are familiar with.

Describe the following areas:

—what it produces/provides

— where it is based

— the company history

— its strengths and weaknesses

— its future prospects

Your teacher will mark your description using this scorecard. The teacher circles 1 mark if a student
includes the area and circles 2 marks for communicating it accurately and effectively. There is a
maximum of ten marks.

The student described:

what the company produces/provides

where it is based

the company history

its strengths and weaknesses

R R R R e
[CYI YN Y I Y I N

its future prospects

SECTION 1: VOCABULARY

1 Underline the correct word in brackets.

1 They set (out/ down / up) a new division to deal with overseas trade.
2 | went to the shop but it’s sold (off / out / in) of coffee.

3 Your children are really growing (out / off / up), aren’t they?

4

I’m sorry but the water has run (out / off / along) in this machine.
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10

11

12

13

14

15

16

His father built (on / over / up) the company from nothing.

Human Resources say we need to take (on / off / up) ten new staff.

She’s looking (up / for / out) a new position.

It could take five years to pay (into / off / by) this personal loan.

The road

Tick the correct word from a, b or c.

into Dubai are excellent.

a) building
I live inan
a) flat

The country enjoys a strong

b) links c) works
apartment
b) office c) block

a) economy b) inflation c) infrastructure

Our main problem is low

a) taxation b) unemployment C) wages

My son is on a work in the USA for three weeks.

a) placement b) apprenticeship c) scheme

We could the job ad on the Internet.

a) search b) post c) supply

The new strategy is to consumers over sixty.

a) worth b) target c) aim

High- executives might be interested in this type of luxury product.
a) consuming b) outgoing C) earning

SECTION 2: LANGUAGE

3 There is an extra word in each sentence. Cross it out and then write it at the end.

17 I’m busy at the moment so I’ll try going to call her back this afternoon.

18 They are going to opening the new hotel later today.

19 We’re will leaving at nine tomorrow morning.

20 The company is going to being expand operations into South America.

21 To check that your application form is filled in correctly before you send it.

22 Pass to me that book please.

23 If anyone isn’t sure, just you ask for help.

24 Do not don’t enter.
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SECTION 3: READING

4 Read this extract from an article on business travel.

The art of travelling light

There are so many limits to travel now such as your luggage must not be over a certain
weight or you’re only allowed to carry one carry-on. But it’s strange that any of us need
any luggage at all these days. The other week I learned just how little I had to carry when
I visited New York on business but the airline sent my bag to Atlanta. My first reaction
was ‘Disaster!” How will I manage? I have to have a change of clothes. What will I do
without my file of papers for a meeting?

Well, my hotel provided soap, toothbrush, towels and shampoo. I had to use the hotel’s
overnight cleaning service but it meant I didn’t need to bring a change of clothes. And all
my papers were on my laptop. So apart from the advice that you should take your laptop
— or preferred piece of technology — on board here’s my complete list of what you

shouldn’t bother with on your next trip...

5 According to the article are these statements are true (T) or false (F)?
25 Airlines say your luggage doesn’t have to be over the weight limit. ()
26 You must carry one bag onto the plane. ()

27 The writer thinks we don’t need to take luggage. ()

28 He was allowed to use the hotel cleaning service. ()

29 It isn’t necessary to have a change of clothes. ()

30 It’s a good idea to take your laptop on the plane. ()

SECTION 4: CAREER SKILLS

6 Three people are discussing job applications for the post of Sales Representative. Complete

each missing phrases with the pairs of words. See the example.

not + about / don’t + when / think-—-+first / remember + check
how + interviewing / like + idea / essential + choose / perhaps + could

could + difficult / may + better / idea + have / need + make

A: OK. We have six applicants for the job. | _think the _first thing to say is that it’s

(31) we someone who is enthusiastic. The last person wasn’t very
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outgoing and we (32) to sure that the new Sales Rep is completely the
opposite.

B: You’re right but I’'m (33) sure the candidates we have at the

moment. We also need someone who’s punctual. It’s a good

(34) to someone creative but sometimes people like that are also difficult
to work with. (35) forget Barry worked for us!

A: Barry! Yes, we don’t want someone like that again. So we need to

(36) to all that at the interviews.

C: (37) about the candidates all together?

A:1(38) that . You mean all six in the same room.

C: Yes, (39) we give them a problem to solve together.

B: Brilliant! Then we can see if they have good communication skills.

A: 1t (40) be to see with six of them at the same time. Why not have

two groups of three?

B: That’s a good idea. And it (41) be to have individual interviews

afterwards. Then we’ll get a really good overall picture of them...

SECTION 5: WRITING

7 Write an email to your colleague at Head Office and explain the plan for a visit to Germany.

Use the notes below and complete the email that follows.

Monday 5"

- Arrive at Dresden factory, 9.30am

- Meet head of production, 10.30

- Lunch with Managing Director, 12.30

- Stay at Metropole Hotel

Tuesday 6"

- Meeting with Sales Representative, Leipzig Offices, 10am
- Taxi to airport, flight at 15.55

Dear Eva

42 T’'m writing to tell
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43 On Monday

44 at the Dresden Factory

45 After meeting the Head of

46 I’'m

at 12.30

47 In the evening |

48 The next day, there’s

at 10am.

49 We’ll finish at lunch so

to the airport.

50 My flight

at 15.55.

See you on Wednesday!

SECTION 6: LISTENING

Track 4

Listen to a property agent talking at a seminar. Complete the notes on his talk below. Listen twice.
The (51) key elements for locating an office:

- Infrastructure:

Do you have good (52)

communications?

Are you near to an (53)

?

- Living Environment:

The location needs to be an (54)

place to

live and not too (55)

- Business Environment:

Choose a place with a growing (56)

Which town did Whiterose choose?
Exeter:

- Attractive environment

- Poor communications and transport
Swindon:

- Excellent (57)

and near to Heathrow

- Business environment is mainly (58)

Luton:

- Growing economy

not service sector

Joxymenm ynpasnsemcs npocpammuvimu cpeocmeamu TRIM-QM
Ilposepv akmyanvrocms epcuu no opueunany, xpanauwemycsa ¢ TRIM-QM




DenepanbHOE areHTCTBO 110 PHIOONIOBCTBY

«KanmHUHrpaIcCKHil TOCYAapCTBEHHBIN TEXHUYECKUH YHUBEPCUTET
(®I'BOY BO «KI'TY»)

denepanbHOE rocyJapcTBEHHOE OI0/DKETHOE 00pa30BaTeIbHOE YUPEHKICHHE BBICLIEr0 00pa3oBaHus

®OHJI OUEHOYHBIX CPEACTB U1 AUCHUTUIMHBIL «IIPOPECCUOAJIBHBIN MHOCTPAHHBIN SI3bIK» (ITPMJIOKEHUE K
PABOYEU ITPOI'PAMME JIMCHUIT/IMHBI) OBPA3OBATEJIBHOU ITPOI'PAMMBI BBICIIIET'O OBPA3OBAHUA

(BAKAJIABPUAT)
QD-6.2.2/00C-60.(67.01) | Brimyck: 25.01.2018 | Bepems: V.2 | Cmp.21/50

- Not as attractive but (59) to London

- Good communications with the (60) and internationally

SECTION 7: SPEAKING
(61-70)

Arrange an appointment with your teacher on the telephone.

— Explain the reason for calling.

— Suggest a day next week

— Suggest a different day (because your teacher is busy)

— Suggest a time
— End the call.

Your teacher will mark your description using this scorecard. The teacher circles 1 mark if a student

includes the area and circles 2 marks for communicating it accurately and effectively. There is a

maximum of ten marks.
The student:

explained the reason for calling.

suggested a day next week.

suggested a different day.

suggested a time.

ended the call appropriately.

R R R R e
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SECTION 1: VOCABULARY

1 Underline the correct verb in italics.

1

2
3
4
5
6
.

When you set / pay the price, it’s important to have a strategy.

A lower price may increase sales but it will also reduce / slow the profit margin
The company may have to cut / borrow its costs to survive this recession.
When people tell / stretch the truth they may commit insurance fraud.

The government’s policy has pushed up / risen the cost of living.

We’ve decided to go up / put up our prices.

I’d like to make / say a complaint about one of your staff.
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8 Sorry, but can you handle / deal with this claim?
9 Let’s offer / pay back them a refund.
10 Your insurance policy only covers / receives you for theft.

11 British companies don’t spend / pay much on service.

SECTION 2: LANGUAGE

2 Complete these sentences with the correct form of the verb in brackets.

12 You won’t believe it! My car (steal).
13 the cost of living (drop) recently?
14 If you require further information, one of our telephone operators (be) happy

to assist you.

15 In recent years, we (cut) the workforce by two hundred.

16 When you (leave) your last job?

17 Inflation (rise) by 0.3% again last month.

18 There’s an additional charge, if you (fail) to pay by the due date.
19 If we (not, go) out tonight, I’ll give you a ring.

20 Did you hear that the Managing Director (fire)?

21 Over twelve days a year (take) off for sickness last year.

22 Your application (consider) and we will contact you in the next few weeks.
23 If you pay within 5 days, you (receive) a discount.

24 Last year, we (lose) our best manager.

25 Motorists (benefit) from cheaper petrol prices in the last six months.

SECTION 3: READING

3 Read parts of a website offering different financial services. Write the missing words
(below) in the titles.

Motor / Home / Pension / Travel / Financial / Commercial / Life

26 insurance.

To protect business owners from losses, including injured employees and damage to property.

27 insurance

This can include delays or cancellations, loss of luggage and medical cover worth up to $1,000,000.

28 advisory service
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We are pleased to introduce a new service for customers. Our online advisers will respond to your
enquiries within 24 hours and offer independent advice on investments and planning.

29 insurance

Are you covered in the event of a death? Will your family have the money they need?

30 insurance

Click here to protect yourself against fire and theft and accidental collision.

31 services

Do you want to retire early? Or perhaps you’d like to live as comfortably in the future as you do
now. Find out more about how to start investing for later life.

32 insurance

This covers fire, weather-related damage and other losses. The policy also covers labour costs,
materials and services for repairs.
SECTION 4: CAREER SKILLS

4 Match the two halves of the phrases and sentences below. Write your answers here:
33_ 34 3 36 3738 39 40
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33
34
35
36
37
38
39
40

There are two possibilities. You can...
If you sell now...

It’s better...

The fact is more people are buying...

My view is we should wait...

On the one hand we’ll make more if we wait. ..

I understand your point...

You have to consider...

a) so the price is rising.

b) it will mean you might not benefit later.
c) the possibility that the price may fall.
d) if you buy low and sell high.

e) but on the other we need money now.

f) but we need to remember that the price will rise.

g) either sell now or wait and see if the market improves.

h) because | think the price will still rise.

SECTION 5: WRITING

5 You are a manager for a supermarket chain. Recently you have received this feedback from

different customers.

‘Your staff gave me the wrong information.’

‘I don’t think your staff know anything about the products.’

‘I asked someone but he wasn’t interested.’

‘She was very impolite when I complained about the product.’

‘I had to wait while two members of your staff were busy talking.’

6 Complete the report below for your Directors. Describe the feedback. Suggest two options to

help and suggest the best solution.

To: The Directors

From: The manager

Subject: Improving customer service.

41
42

I have recently received

One customer said that staff
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43 Another customer also thought that staff knew

44 In one case a member of staff wasn’t

45 When someone complained about a product the staff member

46 And finally, a customer complained because
47 | think the problem is that
48 We could either

49 or we could
50 1 think the best solution is to

SECTION 6: LISTENING
Track 5

7 Listen and complete these guidelines for Customer Service Staff. Listen twice.

The Ten Rules of Customer Service

51 Always be and helpful at all times.

52 Tryto things from the customer’s point of view.

53 Even if the customer is angry, calm

54 Even if you didn’t make the mistake, still try to the problem.

55 When the customer explains, carefully and check you’ve understood.
56 If the customer doesn’t demand action, then a solution.

57 If you can’t do what the customer would like, what you can do.

b

58 Don’t say ‘I might’. Say
59 Remember that you won’t always a solution.

60 Do your

SECTION 7: SPEAKING
(61-70)

8 Give descriptions of the five graphs on page 91 (Unit 10) of the student’s book. In each

description remember to
— say what each graph shows.
— describe the graph
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Your teacher will mark your description using this scorecard. The teacher circles 1 mark if a student

says what the graph shows and circles 2 marks for describing the trend. There is a maximum of ten

marks.

The student:

said what graph A shows and described the trend

said what graph B shows and described the trend

said what graph C shows and described the trend

said what graph D shows and described the trend

said what graph E shows and described the trend

R R R k| -
N N N NN

SECTION 1: VOCABULARY

1 Write in the missing preposition.

1 There’s been a delay

the delivery of the components.

The shortage staff at work is really causing pressure.

Our new just- -time production has made things quicker.

Sorry, but we’re running of time.

2
3
4 We must finish this meeting __ eleven at the latest.
5
6

We look forward hearing from you.

7 Our department has just taken 30 new staff.

2 Read the extract from a report on improving a business. Change the form of the word in

brackets to complete it.

We would like to propose a number of (8) (recommend) to improve

the (9)

(efficient) of your company. With regard to office space, you

could reduce the space needed for your (10) (administrate) staff with
a system of open plan offices. This would then provide space for your sales staff. In the
factory, (11) (product) could be increased through a better system of
supply and storage. The (12) (deliver) company should bring
components to the factory several times a day and these can be taken to the

(13)

(assemble)-line at the moment they are needed. Supplies should

be ordered (14) (electronic) by computer rather than having an
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(15) (employ) enter an order manually.

SECTION 2: LANGUAGE

3 Decide if the sentences are correct (C) or incorrect (1). Correct the incorrect sentences.

16 Orders quickly are sent out to customers. ()

17 Models are frequently updated. ()

18 1 usually get up at six for work. ()

19 It’s been a very successfully project. ()

20 What would you do if you have to take a pay cut? ()

21 If you did my job, you’d see things differently. ()

22 If you do exercise every day, you’ll were much more creative. ()
23 We’d be able to invest more if we would had more money. ()
24 In the old days, people worked longer hours. ()

25 He has been here yesterday. ()

26 They’ve been with the company for over twenty five years. ()

27 Jack Welsh has taken over as CEO of GE in 1981. ()

SECTION 3: READING

4 Read a worker describing his working practices

Are you an efficient worker?

‘I usually work between nine and five and I try not to work longer hours. I think if you
work efficiently you can do your job in your normal working hours. Sometimes | might
work on Saturday morning but only if there’s a problem or something.

I soon discovered that at work you should prioritise. So | make a list and do jobs that my
boss wants done straight away or if | know someone is waiting for me.

The most boring part of my job is reading reports. I read each one in detail and it’s really
frustrating when you read a report which isn’t relevant or has lots of unnecessary
information.

A lot of my work is with other people and we regularly have team meetings to discuss
plans and make suggestions.

I like an organised desk where | can find things. On Friday | make sure that I clear up so

that on Monday | can start again.
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I’ve been working for my company for twenty years and this way of doing things has

always worked well.’

5 Sentences 28-33 are from a checklist entitled ‘Do you work efficiently?’ Decide if the worker
in the article answers ‘Yes’ (Y) or ‘No’ (N) to the sentences.

28 | usually work a certain number of hours aday. Y / N

29 | deal with important tasks immediately. Y / N

30 I skim read texts before | decide to read them in detail. Y / N

31 I share useful ideas with colleagues. Y / N

32 My work place is always tidy. Y /N

33 I regularly review my way of working. Y / N
SECTION 4: CAREER SKILLS

6 Three people are discussing a problem. Write in the missing phrases.

We don’t have / That could be / What we really / Could we quickly / Can I ask / What if
we / Would it help / What exactly has / What else could / No, that wouldn’t / If we did

A: OK. (34) much time. (35) talk
about the problem with the brochures? (36) happened?

B: We printed two million copies but there’s a mistake on the telephone number. So customers will
ring the wrong number. (37) want to do is reprint them all.

A: (38) work. My boss would never agree.
(39) we do?

C: (40) if we sacked the person responsible?

A: Not really.

B: (41) print labels with the correct number on?

A: (42) a solution.

C: We need to be quick. The brochures have to be sent out by the end of next week at the latest.

B: (43) that, we’d need to print them and have time to stick them on.

A: That’s the best idea. Let’s do that. OK. It’s time to finish. (44) you two to

organise that?

SECTION 5: WRITING

7 Rewrite two sentences as one sentence using the phrase in brackets.
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45 The meeting will have to start late. They’re late (because)

46 I’'m working late. I have to finish this report. (because of)

47 We’re opening late. Customers can shop after work. (so that)

48 She’s leaving the company. She wants to set up her own business. (in order to)

49 1It’s too expensive. We won’t have open plan offices. (which means)

50 They won’t recruit internally. They will recruit externally. (decided not to...but to...)

SECTION 6: LISTENING
Track 6

PART 1

8 Listen to the first person talking about motivation and answer the questions. Listen twice.
51 What two things motivate some people?

52 What two things are others motivated by?

53 What are most people motivated by?

54 What must a manager do to get the best from staff?

55 If people feel they can do a job well, what do they get?

PART 2

9 Listen to another person talking about motivation.

Avre these statements True (T) or False (F)? Listen twice.

56 There are four Cs. ()

57 To feel connected, a person needs to understand their role. ()
58 A satisfied worker needs to enjoy the job. ()

59 Computer systems have made workers demotivated. ()
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60 Management and staff work well together in a warm climate. ()

SECTION 7: SPEAKING

(61-70)

10 Prepare a short talk for your teacher about your job. In your talk describe:

— your main responsibilities

— what personal qualities you need for your job

—what you do to be efficient in your job

— what motivates you in your job

— one thing that would make your job easier

Your teacher will mark your description using this scorecard. The teacher circles 1 mark if a student
includes the area and circles 2 marks for communicating it accurately and effectively. There is a
maximum of ten marks.

The student described:

his/her main responsibilities

the personal qualities needed for the job

how to be efficient in the job

what motivates him/her

R R R k| e
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one thing that would make the job easier

Tect mo aucuuniuue «IIpopeccnoHaIbHBIN HHOCTPAHHBIH A3BIK)

HEMELIKHH SI3bIK
Tect |. Boibepurte npomyiieHHOE CIOBO.
1. ... ist ein weltweites Netzwerk von Computern.
a) E-Mail b) Internet c) Server d) Kabel

2. Man muss aber auch an die Kehrseite des technischen Fortschritts - an die Gefahrdung der ...
denken.

a) Kraftwerke b) Technik c) Umwelt d) Larm
3. Wir teilen Thnen weitere Einzelheiten iiber unser ... mit.

a) Katalog b) Preisliste c) Angebot d) Produktpalette

4. Die meisten Stellenangebote erhalten ... .
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a) Lehrer b) Manager c) Studenten d) Experten

5. Die Tourismuswirtschaft profitiert von der gemeinsamen ... .
a) Kreditkarten b) Preise ¢) Wéhrung d) Tarif

6. ... unter den Messegesellschaften ist im Inland groB3.

a) Sortiment b) Die Konkurrenz c) Geld d) Veranstaltung
7. Das neue Unternehmen hat mehrere ... entlassen

a) Arbeitgeber b) Arbeitslosen c¢) Kunden d) Arbeitnehmer
Tecrt |l. BriGepute nporyieHHoe CI0BO.

1. Was wird in diesem Unternehmen ... ?

a) angestellt b) verstellt c) hergestellt d) entstellt

2. Wir bitten ein reiches ... an Biirotechnik.

a) Bestand b) Potenzial c) Auswahl d)Sortiment

3. Rufen Sie mich an, um einen neuen Termin zu ... .

a) vertragen b) vertagen c) verrichten d) vereinbaren

4. Die Bilanz groBer Unternehmer muss ... werden.

a) veroffentlicht b) verteilt c¢) verteidigt d) versteigert

5. Konnten Sie mich bitte mit der Buchhaltung ... .

a) versteuern b) verstehen c) verbinden d) verlassen

6. Um dieses Projekt zu realisieren, ... es erheblicher Investitionen.

a) braucht b) muss c) gehort d) bedarf

Tecr I1l. Bribepure npomyiieHHOE CIIOBO (TIPEIor).
1. ... diese Arbeit ist er nicht zusténdig.
a) Um b)Zu c¢)Fir d)Bei
2. Ein Absolvent muss ... wichtige Kompetenzen verfiigen.
a) von b)ymit c)um d)iber
3. Deutschland ist ... Investoren attraktiv.
a) fir b)an c¢)beim d)iiber
4. Ich reise dienstlich ... England.
a) in b)nach c¢)an d)iiber

5. ... diese Frage gibt es keine Antwort.
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a) An b)Zu c¢)Fir d)Auf

6. Die Zahl der Kunden hat sich ... vierzig Prozent erhoht.

a) gegen b)iber c¢)um d)von
Tecrt V. Kakoe u3 1aHHBIX NPEUIOKEHUN TTPU MIEPEBOJIE COJIEPKUT CIIOBO:

a) ecid, b ) 94TOOBI, C) HU ...HH.

1. Die einheimische Rohstoffbasis wird ausgebaut, dass das Land mehr Rohstoffe hat.
2. Wenn ein Geschéftsmann Entscheidungen nur zégernd trifft, dann kommt er in Zeitnot.
3. Als Folge von Rezession, Arbeitslosigkeit, Preisauftrieb kommt eine Wirtschaftslenkung in Form
der Investitionskontrolle in Betracht.
4. In diesem Fall hat weder der Auftragsgeber noch der Empfanger bares Geld in der Hand.
5. Die Bedingungen, unter denen Unternehmer ihre verkaufsfahigen Produkte erfolgreich auf
Mirkten anbieten, haben sich grundsitzlich gewandelt.
Tect V. Boibepure coro3: a) ,,als* uau b) ,,wenn®.
1. ... ich auf die Post kam, standen viele Menschen an den Schaltern.
2. ... er nach Hause kommt, ist es gewohnlich spit.
3. Ich freue mich, ... ich ihn sehe.
4. ... das Flugzeug auf dem Zentralflughafen landete, war es schon Abend.
5. ... mein Freund von einer Dienstreise zuriickkehrte, besuchte er mich immer.
6. ... ich ins Theater ging, nahm ich immer mein Opernglas mit.
Tecr VI. Omnpenenute, sBISETCS JIM yTBEPXKICHHE ) UCTUHHBIM, D) JOXHBIM MK C) TaKOM
MH(pOpPMaLIUU B TEKCTE HET.

Verbraucher legen das Geld in festverzinsliche Wertpapiere an, um Vermogen zu bilden.
Vermaogensbildung
Vermogen wird durch Sparen gebildet. Wenn der Verbraucher einen Teil seines Einkommens
nicht ausgibt, sondern davon z.B. Wertpapiere kauft oder eine Eigentumswohnung bzw. ein Haus
erwirbt, dann bildet er Vermdgen. Vermogen gibt es in vielerlei Formen. Man unterscheidet das
Geldvermogen (Bargeld, Sparguthaben, Wertpapiere, Lebensversicherungen), den Haus- und
Grundbesitz und das Produktivvermdgen (Beteiligungen am Vermogen der Wirtschaft). Von
vermogenswirksamem Sparen spricht man, wenn Arbeitnehmer Teile des Arbeitslohns oder
tarifvertragliche Leistungen vermogenswirksam nach dem Vermogensbildungsgesetz anlegen.

Arbeitnehmer konnen hierfiir unter Umstinden eine staatliche Forderung, die Arbeitnehmer-
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Sparzulage, erhalten.
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[Tpunoxenue No 2
K1 3.2

TUITIOBBIE 3AJIAHUA 11O KOHTPOJIBHOM PABOTE
KOHTPOJIBHASA PABOTA Ne3
O AHTJIMMCKOMY SI3BIKY
BAPHUAHT 1

3ananue 1. [lepenuiunrte naHHbBIE HIDKE NpeiokeHUs. Onpenenure no rpaMMaTiyecKuM
IIPpHU3HAKaM, KaKOH 4YacThIO peun ABJIACTCA CIIOBO, O(I)OPMJ'IGHHOG OKOHYaHUEM - S, U KaKyro
(bYHKI_II/IIO 9TO OKOHYAHHUC BBIIOJIHACT, T.C. CIIYXKUT JIM OHO: a) IoKa3arTeiieM 3 Jiaga €4. 4. B Present
Indefinite, 6) mpuU3HAKOM MHOXKECTBEHHOT'O YHCJIa MUMEHHU CYIIECTBUTEIBHOTO, B) MOKa3aTelieM
IIPUTSKATENBHOTO 11a/1€7Ka UMEHH CYILIECTBUTENBHOTO. [IepeBenTe Ha pyCCKUN S3BIK.

1 The lectures of Professor Nelson are very interesting. 2. He lectures on Mathematics. 3.
What is your friend's profession? 4. Each lesson lasts 45 minutes. 5. In autumn leaves begin to fall
from the trees. 6. The train leaves at nine.

3ananue 2. llepenuuiuTte cienyoomue MOPeIIOXKEHUs, COJEp)Kallhe pa3Hble (OPMBI
CpaBHCHUA, U IICPCBCAUTC HA pYCCKI/Iﬁ A3BIK.

1. The more often you visit the Hermitage, the more you admire it. 2. Winter is the coldest
season of the year. 3. Moscow today is 5 times as big as at the beginning of the 20-th century. 4. St.
Petersburg is the second largest city after Moscow. 5. The St. Petersburg University is not so old as
the Moscow or Kazan Universities.

3a,Z[aHI/Ie 3. HepeHI/IH_II/ITe U IMACBMCHHO NICPEBCANUTC NPCIAIIOKCHUA, o6pau1a5{ BHUMAHHUE Ha
MEpeBOJA HEONIPCACIICHHBIX MECTOMMEHHUN U Hape‘leI.

1. Everywhere in Moscow you will see new buildings. 2. The lecturer will tell us something
about the history of Great Britain. 3. Any station in our Metro is very clean and beautiful. 4. Some
new districts appeared in St. Petersburg during the last 5 years. 5. You couldn't find this book
anywhere. 6. Anyone who comes to St. Petersburg tries to visit the Hermitage. 7. No engineer can
solve this problem without the help of computers.

3anaHHe 4. HepeHI/IIHI/ITe JaHHBIC MPEAJIOXKCHUA, ONPCACIUTE B HHUX BHIOBPECMCHHBIC
(I)OpMBI [JI1aroJiIoOB U YKaXUTC UX I/IH(I)I/IHI/ITI/IB. HepeBeI{I/IT € MMPCIJIOKCHUA Ha pYCCKI/Iﬁ A3BIK.

1. In 1712 St. Petersburg became the capital of Russia. 2. For citizens of St. Petersburg the

embankment of the Neva is one of the most beautiful places in the world. 3. St. Petersburg got its
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name in 1703. 4.1 shan't go out now as | have much work to do. 5. They do their shopping every
day.

3amanue 5. [Ipournte U ycTHO nepeBeauTe 00a ab3ama Tekcra. [lepenumure 1 TUCEMEHHO
nepeBerTe TEKCT 10 ciioB ""Such an economic system ...".

Most people work to earn a living, and produce goods and services. Goods are either
agricultural (like maize and milk) or manufactured (like cars and paper). Services are such things as
education, medicine and commerce. Some people provide goods; some people provide services. For
example, in the same garage a man may buy a car and some service, which helps him to maintain
his car. The work people do is called economic activity. All economic activities together make up
the economic system of a town, a city, a country or the world. Such an economic system is the sum-
total of what people do and what they want. The work people undertake either provides what they
need or provides the money with which they can buy essential commodities. Of course, most people
hope to earn enough money to buy commaodities and services, which are non-essential, but which
provide some particular personal satisfaction, like toys for children, visits to the cinema and books.

3amanne 6. IIpouture 2-ii ab3am TekcTa. M3 mpuBeIEeHHBIX HM)KE BAapHAHTOB OTBETOB
YKQKHUTE HOMEp MPEUIOKEHHs, COJepKaIllero npaBmibHbIi oTBeT Ha Bonpoc What is an economic
system the sum-total of?

1) An economic system is the sum-total of what people need and what they want. 2) An
economic system is the sum-total of what people do and what they want. 3) An economic system is
the sum-total of what people need and what they provide.

3aHaHI/I€ 7. Brmmunmre us CICAYIOMICro TCKCTa CJIIOBOCOYCTAHHA, KOTOPBIC COACPIKAT
CYIICCTBUTCIILHBIC B q)yHKIII/II/I OIpCaAcICHUA, n MPpECATIOXKCHUA, KOTOpbIC COACpKaT
MMpUIaraTejibHbIC B CpaBHHTeHLHOﬁ u HpeBOCXO):[HOﬁ CTCIICHU. HepeBez(I/ITe TEKCT IMIMCBMCHHO Ha
PYCCKUU SA3BIK.

Abundance of natural resources and investment opportunities make Russia the nation with
the greatest ultimate potential for foreign investors. Recent political and ethnic conflicts and a slow-
moving bureaucracy create greater risks and lower the grade. The best opportunities are in energy,

food processing, tourism, road construction, ceramics, and medicine.

BAPHUAHT II
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3ananue 1. [lepenumnrte naHHbBIE HIDKE NpeiokeHUs. Onpenenure no rpaMMaTHyecKuM
IMPpHU3HAKaM, KaKOH 4YacThIO p€un ABJIACTCA CIOBO, O(i)OpMJ'IeHHOC OKOHYaHHWEM - S, U KaKylo
(byHKI_II/IIO OTO OKOHYAaHHME BBIIIOJHACT, T.C. CIYXKHUT JIK OHO!: a) rokasarejeM 3 JI. €a. 4. B Present
Indefinite, 6) mpuU3HAKOM MHOXXECTBEHHOT'O YHUCJIA WUMEHHU CYIIECTBUTEIHLHOTO, B) IMOKa3aTeleM
IPUTSKATENBHOIO IafieKa MMEHH CyLIeCTBUTENbHOro. [lepeBenure npemioKeHUss Ha PYCCKHU
SA3BIK.

1 .The St. Petersburg Technical University trains specialists in many fields. 2. Trains from
Moscow arrive in St. Petersburg at the Moscow Railway Station.3. Flats in new houses are very
comfortable. 4. The Hermitage houses a big collection of Western European Art. 5. This problem
needs a special approach. 6. Our country's needs in electricity will continue to grow.

3amanue 2. llepenummre crienyromue MPEATOKEHUs, COAEp)Kalue pasHble (Gopmbl
CpaBHCHH, U IICPEBCANU TC UX HA pYCCKI/Iﬁ A3BIK.

1.There are more than 50 schools of higher learning in St. Petersburg. 2. Mathematics is as
important for technical students as Physics. 3. This new apparatus is 4 times as powerful as the old
one. 4. These machine tools are not so efficient as the new ones. 5. The more systematic are our
studies the deeper is our knowledge.

3ananue 3. [lepenuiuTe U MUCbMEHHO NMEPEBEANTE MPEJIOKEHHS, oOpaliasi BHUMaHUE Ha
MEpeBOJA HEONIPCACIICHHBIX MECTOMMEHHUN U Hapqu/Iﬁ.

1. Some electric devices find wide application in every house. 2. You will find this material
nowhere but in the encyclopedia. 3. Something happened to my fountain pen. It does not write. 4.
Any result in our experiment will be of great importance for the whole research. 5. If you have no
money, you cannot buy anything. 6. She said nothing. 7. There was no one in the room.

3a,Z[aHI/Ie 4. HepeHI/IIJ_II/ITe JAaHHBIC TMPCEAJIOXKCHUSA, ONPCACIUTE B HHUX BUIAOBPCMCHHBLIC
(1)0pr1 [J1aroJioB, YKaXUTEC UX I/IH(I)I/IHI/ITI/IB. HepeBeI[I/IT € IMPCIJIOKCHUSA Ha pYCCKI/Iﬁ A3BIK.

1 .There is a wide system of extramural education in our country. 2. In two years, my friend
will become a specialist in the field of economics. 3. She got up, washed, had breakfast and went to
school. 4. Our classes begin at 8.30. 5. We saw an interesting film yesterday.

3a£[aHI/IC 5. HpO‘{TI/ITe " YCTHO IICPECBCAUTC o0a 3638.1_18. TEKCTA. HepenHmHTe U IMCBMCHHO
nepesenuTe TeKcT 110 ciaoB "Our lives might be more....".

The science of economics is based upon facts of our everyday lives. Economists study our

everyday lives and the general life of our communities in order to understand the whole economic
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system of which we are part. They try to describe the facts of the economy in which we live, and to
explain how it works. The economist's methods should of course be strictly objective and scientific.
We need food, clothes and shelter. We probably would not go to work if we could satisfy these
basic needs without working. But even when we have satisfied such basic needs, we may still want
other things. Our lives might be more enjoyable if we had such things as radios, books and toys for
children. Human beings certainly have a wide and very complex range of wants. The science of
economics is concerned with all our material needs and wants.

3ananue 6. Ilpourure 2ii ab3an Tekcta. M3 mpHUBENEHHBIX HU)KE BapHUAHTOB OTBETOB
YKa)KUTE HOMEP MPEUIOKEHUS, COIeprKalllero NpaBWiIbHbIN O0TBeT Ha Bompoc What is the science of
economics concerned with? 1) The science of economics is concerned with the facts of our
everyday life. 2) The science of economics is concerned with all our material needs and wants. 3)
The science of economics is concerned only with basic needs and wants.

3aI[aHI/I€ 7. Brlmunmmre us CICAYIOIICro TCKCTa CJIOBOCOYCTAHHA, KOTOPBIC COACPIKAT
CYLICCTBUTCIIBHOC B (1)YHKI_II/II/I OMpCACIICHUA, U ITPCAIIOKCHNA, KOTOPLIC COACPIKAT IIPUJIAraTC/IbHBIC
B CpaBHHTeHbHOﬁ u HpeBOCXOﬂHOfI CTCIICHMU. HepeBez[HTe TEKCT IMCBMCHHO Ha pyCCKI/Iﬁ A3BIK.

Abundance of natural resources and investment opportunities make Russia the nation with
the greatest ultimate potential for foreign investors. Recent political and ethnic conflicts and a slow-
moving bureaucracy create risks and lower the grade. The best opportunities are in energy, food
processing, tourism, road construction, ceramics, and medicine.

BAPUAHT III

3ananue 1. Ilepenumunre naHHbBIE HIDKE NpeiokeHus. Onpenenure no rpaMMaTHyecKuM
MpU3HAKaM, KaKOW YacThIO PEYM SBISIETCS CIIOBO, O(QOPMICHHOE OKOHYaHUEM - S, M KaKylo
q)YHKI_II/IIO 9TO OKOHYAaHHE BBIIIOJHACT, T.C. CIYKHUT JIK OHO: a) rokasarejeM 3 II. €a. 4. B Present
Indeﬁnite, 6) IIPU3HAKOM MHOXCECTBCHHOI'O 4YMCJIa MMCHU CYIICCTBUTCIBHOIO, B) IoKa3zaTcjiemM
MIPUTSKATENBHOTO 11/1€7Ka UMEHH CYIIECTBUTENBHOTO. [IepeBenTe Ha pyCCKHAN S3BIK.

1.A friend of mine studies at our University. 2. This young engineer's projects are very
interesting. 3. Students do their practical work in well-equipped laboratories and studies. 4. He used
the results of these analyses in his work. 5. Electricity lights our streets and houses. 6. Their
Institute houses both physical and chemical laboratories.

3ananue 2. [lepenumuTte crenyoomuye MOpeIIoKEHUs, CoAepXKaliue pa3Hble (QOopMbl

CpaBHCHHU, U IICPCBCAUTC UX HA py'CCKI/Iﬁ SA3BIK.
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I. The nearer is the summer the longer are the days. 2. Winter in England is not so cold as it
is in our country. 3. This new device operates several times faster than your old one. 4. To study
well is as important as to work well. 5.The hottest days are in summer,

3amanue 3. [lepenummte U MUCbMEHHO MEPEBEIUTE MPEATIOKEHHS, OOpaIas BHUMaHHE Ha
MIEPEBO/I HEOIIPEICTEHHBIX MECTOUMEHNI U HAPEUHIA.

1. Nobody missed lectures last week. 2. We didn't find this magazine anywhere. 3. He knew
nothing about this discovery. 4. Something happened to my TV set. 5. Everybody in England is
proud of his or her old traditions. 6. No one in the laboratory could tell us about the results of his
experiments. 7. Professor told us about some interesting facts from his practical work.

3a,Z[aHI/Ie 4. HCpCHI/IH_II/ITe JaHHBIC INPCAJIOKCHHUA, OIPCACINTC B HHUX BHUIAOBPCMCHHLIC
(bOpMBI [1aroJioB, YKaXUTEC UX I/IH(i)I/IHI/ITI/IBLI, MNEPEBCANUTC HA pyCCKI/Iﬁ A3BIK.

1. There were two universities in England in the early 13th century -Oxford and Cambridge.
2. They usually buy newspapers in the morning. 3. For a long time London University had no
library. 4. The students will take an active part in the preparation for the conference. 5. My friend
attends lectures, classes and seminars at the University three times a week.

3ananue 5. [Ipoutute U ycTHO mepeBeanuTe oba ab3ama Tekcra. [lepenumuTe U MTUCEMEHHO
nepesenuTe TekcT 10 cios "In Poland...".

The countries of Western Europe underwent radical political and economic changes in
1990s, when they began to move from state control of the economy to free markets. In response,
firms in the rest of the world began searching for new opportunities in Eastern Europe. They rate
various countries on the current good growth opportunities and government attitudes to foreign
investors. The government of Hungary, for example, has actively recruited foreign investors.
Foreigners can purchase a less-than-50-percent interest in a firm with no government approval.
With approval, foreigners can own 100 percent. In Poland labour is inexpensive and the
government has welcomed foreign investors, allowing 100-percent ownership and the same rights
as Polish citizens. The weak macroeconomic condition of the economy lowers the grade.

3al[aHI/IC 6. HpOQTI/ITC 2-oit 3638.1_[ Tekcra. M3 NPUBCACHHBIX HUKC BAPUAHTOB OTBCTOB
YKQKHUTE HOMEp INPEUIOKEHHS, COJEepIKaIllero mpaBuiIbHbIN oTBeT Ha Bompoc What opportunities
does the government of Poland offer for foreign investors? 1) The government has been slow to
attract foreign investors. 2) The government has welcomed foreign investors. 3) The government

has substantial restrictions on foreign investments.
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3a):[aHHe 7. Bpmumure wu3 CIICAYIOIICTO TCKCTAa CJIOBOCOYCTAHHA, KOTOPBIC COACPIKAT
CYIICCTBUTCIILHBIC B (bYHKI_[I/II/I OIIpCaAcCICHNA, u MMpCaJIOKCHUS, KOTOPBIC coacpxKar
InpujaaraTcjibHBIC B CpaBHHTeHBHOfI u HpCBOCXO,Z[HOﬁ CTCIICHU. HepeBe/:[I/ITe TEKCT NUCBMEHHO Ha
PYCCKHH SI3BIK.

Abundance of natural resources and investment opportunities make Russia the nation with
the greatest ultimate potential for foreign investors. Recent political and ethnic conflicts and a slow-
moving bureaucracy create greater risks and lower the grade. The best opportunities are in energy,

food processing, tourism, road construction, ceramics, and medicine.

KOHTPOJIbHAS PABOTA Ne4
MO AHTJIMACKOMY SI3BIKY
BAPHUAHT 1

3aI[aHI/I€1. HepeHI/IHII/ITe JAHHBIC HWIKC MPCIAJIOKCHUA. OHpGI{GHI/ITG o rpaMMaTU4CCKUM
IIPpHU3HAKaM, KaKOH 4YacThIO peun ABJIACTCA CIIOBO, O(I)OPMJ'IGHHOG OKOHYaHUEM - S, U KaKyro
(bYHKI_II/IIO 9TO OKOHYAHHUC BBIMOJIHACT, T.C. CIIYKUT JIM OHO: a) IoKa3arTeiieM 3 Jiaga €4. 4. B Present
Indefinite, 6) mpuU3HAKOM MHOXKECTBEHHOT'O YHCJIa MMEHHU CYIIECTBUTEIBHOTO, B) IOKa3aTelieM
MIPUTSKATENBHOTO 11/1€7Ka UMEHH CYIIECTBUTENBHOTO. [IepeBenTe Ha pyCCKHAN S3BIK.

1 The lectures of Professor Nelson are very interesting. 2. He lectures on Mathematics. 3.
What is your friend's profession? 4. Each lesson lasts 45 minutes. 5. In autumn leaves begin to fall
from the trees. 6. The train leaves at nine.

3ananue 2. [lepenumiurte crienyromue MpenIoKeHUs, COJep)Kallue pa3Hble (QOpMbI
CpaBHCHH:, U IICPECBCAUTC HA pYCCKHfI SA3BIK.

1. The more often you visit the Hermitage, the more you admire it. 2. Winter is the coldest
season of the year. 3. Moscow today is 5 times as big as at the beginning of the 20-th century. 4. St.
Petersburg is the second largest city after Moscow. 5. The St. Petersburg University is not so old as
the Moscow or Kazan Universities.

3a£[aHI/IC 3. HCpCHI/IH_II/ITC U MUCbMCHHO IICPEBCAUTC MPCATIOKCHUS, 06pa1ua;1 BHUMAHHUEC HA
MNEpeBOJA HECOMIPCACIICHHBIX MECTOMMEHHUU U Hapetmﬁ.

1. Everywhere in Moscow you will see new buildings. 2. The lecturer will tell us something
about the history of Great Britain. 3. Any station in our Metro is very clean and beautiful. 4. Some

new districts appeared in St. Petersburg during the last 5 years. 5. You couldn't find this book
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anywhere. 6. Anyone who comes to St. Petersburg tries to visit the Hermitage. 7. No engineer can
solve this problem without the help of computers.

3a,Z[aHI/Ie 4. HepenHmHTe JaHHBIC IMPCAJTIOXKCHUA, OIPEACIIUTE B HHUX BHIOBPEMCHHBIC
(OpMBI T1arojoB U YKaXUTe UX HHOUHUTUB. [lepeBequTe MpeiokeHus: Ha PYCCKHUil S3bIK.

1. In 1712 St. Petersburg became the capital of Russia. 2. For citizens of St. Petersburg the
embankment of the Neva is one of the most beautiful places in the world. 3. St. Petersburg got its
name in 1703. 4.1 shan't go out now as | have much work to do. 5. They do their shopping every
day.

3ananue 5. [Ipoutute U ycTHO mepeBeanuTe oba ab3ama Tekcra. [lepenumuTe U MUCEMEHHO
nepeseanTe TEKCT 10 ciioB "Such an economic system ...". Most people work to earn a living, and
produce goods and services. Goods are either agricultural (like maize and milk) or manufactured
(like cars and paper). Services are such things as education, medicine and commerce. Some people
provide goods; some people provide services. For example, in the same garage a man may buy a car
and some service, which helps him to maintain his car. The work people do is called economic
activity. All economic activities together make up the economic system of a town, a city, a country
or the world. Such an economic system is the sum-total of what people do and what they want. The
work people undertake either provides what they need or provides the money with which they can
buy essential commodities. Of course, most people hope to earn enough money to buy commodities
and services, which are non-essential, but which provide some particular personal satisfaction, like
toys for children, visits to the cinema and books.

3ananue 6. IIpourute 2-if ab3am Tekcra. M3 mpuBeneHHBIX HHM)KE BapHaHTOB OTBETOB
YKQKHUTE HOMEp MPEUIOKEHHs, COJIepKalllero npaBmibHbI oTBeT Ha Borpoc What is an economic
system the sum-total of?

1) An economic system is the sum-total of what people need and what they want. 2) An
economic system is the sum-total of what people do and what they want. 3) An economic system is
the sum-total of what people need and what they provide.

3aI[aHI/Ie 7. Bpmummre us CJICAYIOMICTO TEKCTa CJIIOBOCOYCTAHUA, KOTOPBIC COACPIKAT
CYHICCTBUTCIILHBIC B (I)YHKI_II/II/I OIIpCACIICHUA, u NpCAJIOKCHUA, KOTOPBIC CoACpIKaT
MpujaIaraTcjibHbBIC B CpaBHHTeHBHOfI u HpeBOCXO)IHOﬁ CTCIICHU. HepeBeJmTe TEKCT IMUCBMCHHO Ha
pycckuii s3pik. Abundance of natural resources and investment opportunities make Russia the

nation with the greatest ultimate potential for foreign investors. Recent political and ethnic conflicts
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and a slow-moving bureaucracy create greater risks and lower the grade. The best opportunities are
in energy, food processing, tourism, road construction, ceramics, and medicine.

BAPUAHT 11

3ananue 1. Ilepenumunre naHHblE HMKE NpeiokeHus. Onpenenure no rpaMMaTiyecKuM
IIpU3HaAKaM, KaKOM YacTblO pcun ABJIACTCA CJIOBO, 0(1)0pMJIeHHO€ OKOHYaHUCM - S, U KaKyro
(byHKI_II/IIO OTO OKOHYAaHHE BBIIIOJHACT, T.C. CIYXKHUT JIM OHO!: a) rokasarejeM 3 JI. €a. 4. B Present
Indefinite, 6) mpu3HAKOM MHOXXECTBEHHOI'O YHCJIa MMEHU CYIICCTBUTEIBHOTO, B) ITOKa3aTelieM
IPUTSKATENIBHOTO IAJieKa MMEHH CYHIECTBUTENbHOrO. [lepeBennre npennokeHWss Ha PYCCKHU
SA3BIK.

1 .The St. Petersburg Technical University trains specialists in many fields. 2. Trains from
Moscow arrive in St. Petersburg at the Moscow Railway Station.3. Flats in new houses are very
comfortable. 4. The Hermitage houses a big collection of Western European Art. 5. This problem
needs a special approach. 6. Our country's needs in electricity will continue to grow.

3amanue 2. IlepenumuTe cremyromme MTPeIIOKEHHUS, COAepkaliue pasHbie (Gopmbl
CpaBHCHUSA, U IICPCBCIU TC UX HA pYCCKI/Iﬁ A3BIK.

1.There are more than 50 schools of higher learning in St. Petersburg. 2. Mathematics is as
important for technical students as Physics. 3. This new apparatus is 4 times as powerful as the old
one. 4. These machine tools are not so efficient as the new ones. 5. The more systematic are our
studies the deeper is our knowledge.

3ananue 3. [lepenuiuTe ¥ MUCbMEHHO MEPEBEANTE MPEJIOKEHUs, oOpalasi BHUMaHUE Ha
MEPEBO/T HEONPEIETEHHBIX MECTOUMEHN U HAPECUHIA.

1. Some electric devices find wide application in every house. 2. You will find this material
nowhere but in the encyclopedia. 3. Something happened to my fountain pen. It does not write. 4.
Any result in our experiment will be of great importance for the whole research. 5. If you have no
money, you cannot buy anything. 6. She said nothing. 7. There was no one in the room.

3a)IaHI/Ie 4. HepeHI/IIHI/ITe JaHHBIC MPCAJIOXKCHUA, ONPCACIUTE B HHUX BHIOBPECMCHHBIC
(I)OpMBI rJ1aroJjyioB, YKaXUTC UX I/IH(i)I/IHI/ITI/IB. HepeBeI[I/IT € MMPCIJIOKCHUA Ha pYCCKI/Iﬁ A3BIK.

1 .There is a wide system of extramural education in our country. 2. In two years, my friend
will become a specialist in the field of economics. 3. She got up, washed, had breakfast and went to
school. 4. Our classes begin at 8.30. 5. We saw an interesting film yesterday.
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3amanue 5. [IpoutuTe M ycTHO mepeBenuTe 06a ab3ama Tekcra. [lepenuimmre 1 TUCEMEHHO
nepeBeauTe TeKCT A0 ciaoB "Our lives might be more....".

The science of economics is based upon facts of our everyday lives. Economists study our
everyday lives and the general life of our communities in order to understand the whole economic
system of which we are part. They try to describe the facts of the economy in which we live, and to
explain how it works. The economist's methods should of course be strictly objective and scientific.
We need food, clothes and shelter. We probably would not go to work if we could satisfy these
basic needs without working. But even when we have satisfied such basic needs, we may still want
other things. Our lives might be more enjoyable if we had such things as radios, books and toys for
children. Human beings certainly have a wide and very complex range of wants. The science of
economics is concerned with all our material needs and wants.

3amanmne 6. Ilpoutmre 2ii abzanm Tekcra. M3 NpHUBEICHHBIX HIKE BapHAHTOB OTBETOB
YKa)KHUTE HOMEP MPEUIOKEHU, COIeprKalllero NpaBWiIbHEIN OoTBeT Ha Bompoc What is the science of
economics concerned with? 1) The science of economics is concerned with the facts of our
everyday life. 2) The science of economics is concerned with all our material needs and wants. 3)
The science of economics is concerned only with basic needs and wants.

3aHaHI/I€ 7. Brlnunmre us CICAYIOIICTO TCEKCTAa CJIIOBOCOYCTAHHA, KOTOPBLIC COACPKAT
CYHICCTBUTCIILHOC B (1)YHKI_II/II/I OIIPEACIICHUS, N IPCIIIOKCHU A, KOTOPBIC COACPIKAT MMPUJIATraTCIIbHBIC
B CpaBHHTeHbHOﬁ u HpeBOCXOﬂHOﬁ CTCIICHH. HepeBe)lI/ITe TEKCT IMCBMCHHO Ha pyCCKI/Iﬁ A3BIK.

Abundance of natural resources and investment opportunities make Russia the nation with
the greatest ultimate potential for foreign investors. Recent political and ethnic conflicts and a slow-
moving bureaucracy create risks and lower the grade. The best opportunities are in energy, food
processing, tourism, road construction, ceramics, and medicine.

BAPHUAHT III

3ananue 1. [lepenumunrte naHHbIE HIDKE HpeiokeHus. Onpenenure no rpaMMaTHyecKuM
MPU3HAKaM, KaKOW YacThI0 PEYH SBIIETCS CIIOBO, O(GOPMIICHHOE OKOHYaHHUEM - S, M KaKylo
(I)YHKI_II/IIO 9TO OKOHYAaHHC BBIIOJHACT, T.C. CIYXHUT JIM OHO: a) mmokKasarejaeM 3 JI. ca. 4. B Present
Indeﬁnite, 6) IMPU3HAKOM MHOXCCTBCHHOI'O 4YMCJIa MMCHU CYIICCTBUTCIBHOIO, B) IIOKa3aTejIeM
MPUTSKATENBHOTO M1a/1€7Ka UMEHH CYIIECTBUTENBHOTO. [lepeBenTe Ha pyCCKHAN SI3BIK.

1.A friend of mine studies at our University. 2. This young engineer's projects are very

interesting. 3. Students do their practical work in well-equipped laboratories and studies. 4. He used
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the results of these analyses in his work. 5. Electricity lights our streets and houses. 6. Their
Institute houses both physical and chemical laboratories.

3amanue 2. Ilepenumure CcraeayrOIMe NPEAJIOKEHHS, COAEpXkKallhe pa3Hbie (OPMBI
CpaBHEHMSI, U IEpeBeAUTE X Ha pycckui s3bIK. 1. The nearer is the summer the longer are the days.
2. Winter in England is not so cold as it is in our country. 3. This new device operates several times
faster than your old one. 4. To study well is as important as to work well. 5. The hottest days are in
summer.

3ananue 3. Ilepenumure U NUCbMEHHO NEPEBEIUTE MPEATIOKEHUS, 0Opallas BHUMaHUE Ha
NIePEBOJT HEOMPEACACHHBIX MecTonMeHuil u Hapeuuit. 1. Nobody missed lectures last week. 2. We
didn't find this magazine anywhere. 3. He knew nothing about this discovery. 4. Something
happened to my TV set. 5. Everybody in England is proud of his or her old traditions. 6. No one in
the laboratory could tell us about the results of his experiments. 7. Professor told us about some
interesting facts from his practical work.

3a,Z[aHI/Ie 4. Hepel’II/II_HI/ITe JaHHBIC TIIPCAJIOXKCHUSA, OIPCACINTC B HHX BHUIAOBPCMCHHLIC
(1)0pr1 [1aroJioB, YKaXXUTEC UX I/IH(i)I/IHI/ITI/IBLI, MNEPECBCANUTC HA pYCCKI/Iﬁ A3BIK.

1. There were two universities in England in the early 13th century -Oxford and Cambridge.
2. They usually buy newspapers in the morning. 3. For a long time London University had no
library. 4. The students will take an active part in the preparation for the conference. 5. My friend
attends lectures, classes and seminars at the University three times a week.

3amanue 5. [Ipoutnte U ycTHO mepeBeauTe 0o0a ab3ara Texcra. [lepenummre 1 THCEMEHHO
nepeeaure Teket jgo cioB "In Poland...". The countries of Western Europe underwent radical
political and economic changes in 1990s, when they began to move from state control of the
economy to free markets. In response, firms in the rest of the world began searching for new
opportunities in Eastern Europe. They rate various countries on the current good growth
opportunities and government attitudes to foreign investors. The government of Hungary, for
example, has actively recruited foreign investors. Foreigners can purchase a less-than-50-percent
interest in a firm with no government approval. With approval, foreigners can own 100 percent. In
Poland labour is inexpensive and the government has welcomed foreign investors, allowing 100-
percent ownership and the same rights as Polish citizens. The weak macroeconomic condition of the

economy lowers the grade.
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3amanue 6. Ilpouture 2-0if ab3am Tekcta. M3 mpuBEAEHHBIX HMXKE BAapHAHTOB OTBETOB
YKa)KUTE HOMEP IPEIIOKEHHS, COAEepIKaIlero mpaBuiIbHbI oTBeT Ha Bompoc What opportunities
does the government of Poland offer for foreign investors? 1) The government has been slow to
attract foreign investors. 2) The government has welcomed foreign investors. 3) The government
has substantial restrictions on foreign investments.

3a,Z[aHI/I€ 7. Bpmmumure us CICAYIOUIEr0o TEKCTa CJIIOBOCOYECTAHHsA, KOTOPBIC COACPKAT
CYIICCTBUTCIILHBIC B (bYHKI_[I/II/I OIIpECACIICHNA, u MMpCAJIOKCHUA, KOTOPBIC coacpxKar
MpujaIaraTcjibHbIC B CpaBHHTeHLHOﬁ u HpeBOCXOILHOﬁ CTCIICHU. HepeBezn/ITe TEKCT IIMCBMCHHO Ha
PYCCKUU A3BIK.

Abundance of natural resources and investment opportunities make Russia the nation with
the greatest ultimate potential for foreign investors. Recent political and ethnic conflicts and a slow-
moving bureaucracy create greater risks and lower the grade. The best opportunities are in energy,

food processing, tourism, road construction, ceramics, and medicine.

KOHTPOJIBHAS PABOTA Ne 3
1O HEMELKOMY SA3BbIKY

|. U3 naHHbIX NpeAso:KeHHil BHIMUIINTE U NMepeBenTe TO, B KOTOPOM rJjaroJ ,,haben”
BbIpa)kaeT /I0JIKeHCTBOBaHMeE.

I. Ich habe noch nicht alle Waren verkauft. 2. Die Unternehmen haben die
Marktverdanderungen zu beriicksichtigen. 3. Sie haben viel bessere Arbeitsbedingungen. 4. Ich habe
Lust, dir zu helfen.

II. U3 na"HbIX NpeNioKeHUuil BbINMIINTE U NepeBeInTe TO, B KOTOPOM IJ1aroJ ,sein®
BbIpakKaeT A0/’KeHCTBOBAHME HMJIU BO3MOKHOCTb.

1. Zuerst ist die Bedeutung des Wortes ,,Wirtschaft” zu kldren. 2. Marketing ist zur
Forderung des Absatzes entstanden. 3. Wir sind in die Gaststitte hereingekommen. 4. Es ist
wichtig, Probleme klar zu definieren.

I1I. [lepenummuTe NpeaI0KeHUs, BO3bMHUTE B CKOOKH PacnpoCcTpPaHeHHOe onpejiesieHne,
NOJYEPKHUTE €ro OCHOBHOI wWieH (NpUYacTHe WJIM NpPWJIararejibHoOe); NepeBeauTe
npennoxkenusi. O6pazen: Die (an der Fakultdt fiir Fernstudium und Externat des Instituts fiir
Technologie Nowosibirsk ausgebildeten) Fachleute sind in verschiedenen Betrieben und
Unternehmen der Leicht- und Konsumgiiterindustrie titig. — CrienuanucTsl, TOATOTOBICHHBIE Ha
dakynere ®30uD HTU, paboTaioT B pa3IUYHBIX OpraHU3alUsAX © Ha OSKOHOMHYECKUX
IPEANPUATHSIX JIETKON MPOMBIIUIEHHOCTH M MTPOMBIIIIEHHOCTH TOBAPOB HIMPOKOTO MOTPEOICHHUS.

1. Der Binnenhandel umfaBt alle im Inland hergestellten Waren. 2. Die von allen
erzeugte Giitermenge ist erheblich gréfler als bei Eigenversorgung.
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IVv. HepelmumTe MNPEeAJI0KCHUH, MOAYEPKHUTE omnpeaejicHue, BBIPAKCHHOC
npuyactuem I ¢ zu; nepeBennTe npeaaoKeHHus .

1. Die nach dem von allen Teilnehmern angenommenen Verfahren bis 1. Januar 1999
festzulegenden  Wechselkurse zum Euro und diese Wechselkurse zwischen den
Teilnehmerwéhrungen sollten die Wéhrungsunion einleiten. 2. Der Verkdufer muss zusitzlich die
Transportversicherung gegen die vom Kaiufer zu tragenden Gefahren des Verlusts oder der
Beschidigung zahlen.

V. IlepennmmuTe ¥ T1epeBeInTe MNPENJOKEHUsl, coaepxamue 000Co0TeHHbIE
NPHUYACTHBIE 000POTHI.

1. Neue Ideen, neue Marketinginstrumente nutzend, konnen die Unternehmen fiir ihre
Produkte den ausreichenden Absatz sichern. 2. Die langfristige Verkaufsstrategien entwickelt,
erhielten die Unternehmen erforderliche Ergebnisse.

VI. TIpoyTuTe TEeKCT U NepeBeAUTE €ro YCTHO, 3aTeM MepenuiIUTe M IepeBeguTe
NUCHLMEHHO 3arjiaBue 1 ad3aumnl 1, 2, 4.

WIRTSCHAFT

1. Wirtschaft ist ein Lebensbereich, dessen Wesen durch die Aufgabe bestimmt wird,
menschliches Leben materiell zu erhalten und zu sichern. Diese Aufgabe stellt sich zu allen Zeiten
und an allen Orten, mag auch die Art ihrer Bewiltigung verschieden sein. Der Grund dafiir ist die
Giiterknappheit. 2. Als Giliter werden solche Mittel bezeichnet, die menschliche Bediirfnisse
befriedigen. Ist ein Gut so reichlich vorhanden, daf3 es sich bei der Bediirfnisbefriedigung nicht
erschopft, und sind fiir seine konsumreife Bereitstellung Anstrengungen nicht erforderlich, besteht
keine Knappheit. In der Regel herrscht Giiterknappheit, eine Spannung zwischen Bediirfnissen und
Mitteln zu deren Befriedigung. Die Menschen konnen ihre jeweiligen Bediirfnisse normalerweise
nicht vollstandig befriedigen. 3. Wirtschaften bedeutet, zwischen verschiedenen Moglichkeiten zu
wihlen. Mit der Entscheidung fiir eine bestimmte Bediirfnisbefriedigung (z.B. Autokauf) muf3 bei
knappen (Geld-)Mitteln zumindest auf eine alternative Bediirfnisbefriedigung (z.B. 1 Ferienreise)
verzichtet werden. Ist die wirtschaftliche Entscheidung so getroffen worden, da3 durch alternative
Giiterverwendungen das Ausmal} der Bediirfnisbefriedigung nicht mehr erhdht werden kann, hat
das Individuum nach dem wirtschaftlichen (6konomischen) Prinzip gehandelt. Jede andere Wahl
vermindert das Niveau der Bediirfnisbefriedigung, bedeutet also eine Verschwendung knapper
Giiter. Da der Erwerb knapper Giiter mit Zeit und Miihen verbunden ist, wird die Beachtung des
wirtschaftlichen Prinzips als verniinftig bezeichnet (rationales Verhalten). 4. Die Giiterknappheit
wird gemildert — nicht behoben — durch die ,,Arbeitsteilung*. Miifte jeder alles erzeugen, was es flir
die Existenzerhaltung benétigt, konnten sich die meisten Menschen auch bei giinstigen klimatischen
Bedingungen nur miihselig und schlecht versorgen. 5. In einer Wirtschaft mit Arbeitsteilung
verzichtet der Einzelne ganz oder tiberwiegend darauf, fiir den eigenen Bedarf zu produzieren. Die
von allen erzeugte Giitermenge ist erheblich groBer als bei Eigenversorgung, vor allem weil die
unterschiedlichen Fahigkeiten der Menschen und Besonderheiten der Wirtschaftsrdume besser
genutzt sowie arbeitssparende Maschinen eingesetzt werden konnen. 6. Die Arbeitsteilung hat zwei
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wichtige Konsequenzen: Sie erfordert erstens einen Giiteraustausch — weil der Einzelne von einem
Produkt mehr erzeugt, als er selbst benotigt, dagegen einen Mangel an Giitern hat, an deren
Erzeugung er nicht beteiligt ist —, zweitens eine gesamtwirtschaftliche Koordination von
Giiterangebot und Giiternachfrage.

VII. 3nas comepkaHue TEKCTa, YKAKUTe HOMEP NMPABWJIBHOI0 OTBETAa Ha CJeTYHOIIHii
Bonpoc: Wie kann man die Giiterknappheit nach dem wirtschaftlichen (6konomischen)
Prinzip beheben?

1. Die Menschen konnen ihre jeweiligen Bediirfnisse normalerweise nicht vollstindig
befriedigen. 2. Der Einzelne produziert alles ganz oder iiberwiegend selbst fiir den eigenen Bedarf.
3. Durch alternative Giiterverwendungen kann das Ausmal3 der Bediirfnisbefriedigung nicht mehr
erhoht werden. Jede andere Wahl vermindert das Niveau der Bediirfnisbefriedigung. Also gibt es
zwei wichtige Alternativen: erstens — einen Giiteraustausch, zweitens — eine gesamtwirtschaftliche
Koordination von Giiterangebot und Giiternachfrage.

KOHTPOJIBHASA PABOTA Ne 4
IO HEMELIKOMY A3BIKY

I. U3 naHHbIX NpeaJio:KeHnid BLINMUIINTE U NepeBenTe TO, B KOTOPOM rJiaroJ ,.haben“
BbIPa:KaeT J0/LKeHCTBOBaHUE.

1. Der Verkidufer hat die Ware zum vereinbarten Zeitpunkt dem Frachtfiihrer am benannten
Ort zu ibergeben. 2. Der Verkaufer hat die gleichen Verpflichtungen wie bei frachtfreien
Bedingungen. 3. Die BinnengroBhéndler haben eine Briicke zwischen dem inlédndischen Hersteller
oder auch Importeur ausldndischen Waren und dem Einzelhandel gebildet.

I1. U3 naHHbIX NpeNio:KeHUil BHINMIINTE U NepeBeInTe TO, B KOTOPOM IJ1aroJ ,sein®
BbIPa)KaeT /I0/I’KEeHCTBOBAHHE HJIM BO3MOKHOCTb.

1. Urspriinglich waren die Klauseln nur fiir den Uberseehandel gedacht. 2. Fiir
Auslegungsstreitigkeiten der Incoterms ist ein internationaler Handelsschiedshof in Paris zustindig.
3. Die innere Organisation der Materialwirtschaft ist nach dem ,,Objektprinzip“ oder nach dem
»~Funktionsprinzip* einzuteilen.

III. TIlepenumure mpeNI0KeHUs, BO3bBMUTE B CKOOKM pacnpocTpaHéHHoe
onpejaejieHue, TMOAYEPKHUTE €ro OCHOBHOW wWieH (NMpuU4YacTHe WJIHM TNpPWiIararejbHoe);
nepeseaute npeajaoxenusa. O6pazen: Die (an der Fakultit fiir Fernstudium und Externat des
Instituts fiir Technologie Nowosibirsk ausgebildeten) Fachleute sind in verschiedenen Betrieben
und Unternehmen der Leicht- und Konsumgiiterindustrie titig. — CrenuanucTbl, HTOATOTOBICHHBIE
Ha ¢akynete ®@30uD HTU, paboraroT B pa3iMYHBIX OpraHU3alMiIX W Ha SKOHOMUYECKHX
OPENPUATHSX JIETKOW MPOMBIIIEHHOCTH U MPOMBIIIICHHOCTH TOBAPOB IIUPOKOTO MOTPEOICHHUS.
1. Die Incoterms sind internationale Regeln fiir die im Auflenhandel {iblichen
Lieferungsbedingungen. 2. Die an der Messe beteiligten Unternehmen haben ein unmittelbares
Interesse, Informationen liber ihre Messebesucher zu erhalten.
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IV. TIlepenummure TpeNIoKeHUs], TOTYEPKHUTE ONpe/eieHHe, BbIPAKEHHOE
npuyactuem I ¢ Zu; mepeBeanTe NMpeAIOKEHHUS.

1. Dieses Marketingkonzept enthielt die zukiinftigen Marktaufgaben des Finanzamtes und
der zu bildenden Wirtschaftsdmter. 2. Die zu beginnenden marktwirtschaftlichen Beziehungen in
RuBland erfordern die Anwendung der elektronischen Datenverarbeitung (EDV).

V. Ilepenummute ¥ TepeBeInTe MNPENJIOKEeHUsI, coaepxamue 000CoO0IeHHbIe
NpUYaACTHBIE 000POTHI.

1. Die Haushalte versuchen, ausgehend von dem verfiigbaren Einkommen, ihre Bediirfnisse
optimal zu befriedigen. 2. Angelockt durch die mdoglichen zukiinftigen Gewinne, geben die
Unternehmer fiir eine vermehrte Warenherstellung verstiarkt Geld aus (investieren).

VI. IIpoyruTre TEKCT M NepeBeaUTe ero yCTHO, 3aTeM IlepenuiuuTe U INepeBeaurTe
NMUCHLMEHHO 3arJjiaBue u ad3annl 1, 3, 6.

GRUNDSATZE EINER FREIEN MARKTWIRTSCHAFT

1. Die Notwendigkeit, zu wirtschaften, ergibt sich also aus dem Spannungsverhiltnis
zwischen den einerseits unbegrenzten Bediirfnissen der Menschen z.B.1 nach Nahrung, Kleidung,
Dienstleistungen, Luxusgiitern etc.2 und den andererseits nur begrenzt vorhandenen, zur
Befriedigung dieser Bediirfnisse notwendigen Mitteln (Wirtschaftsgiiter und Dienstleistungen). 2.
Idealtypisch sind zwei einander entgegengesetzte Wirtschaftsordnungen zu unterscheiden: eine
kollektivistische und eine individualistische. Die kollektivistische Wirtschaftsordnung wird auch
Zentralplan-  oder  Zentralverwaltungswirtschaft genannt. 3. Die individualistische
Wirtschaftsordnung — als Gegenstiick zur kollektivistischen — wird freie Marktwirtschaft genannt.
Sie geht von der Existenz von Individuen und individuellen Bediirfnissen aus. Vorrangiges Ziel
dieser Wirtschaftsordnung ist daher, das organisatorische Problem so zu 16sen, daf3 die Wiinsche der
Einzelnen so gut wie moglich befriedigt werden. 4. Die einzelnen Wirtschaftssubjekte (private
Haushalte, Unternehmen, Staat) stellen daher ihre Wirtschaftspliane selbstdndig auf und treten auf
den einzelnen Markten miteinander in Verbindung3 . Der Waren- und Leistungsaustausch erfolgt
aufgrund freier Vereinbarungen und geméB nach Angebot und Nachfrage sich ergebender Preise.
Der Staat greift grundsétzlich in die Plane der Unternehmen und Haushalt nicht ein, sondern stellt
lediglich den Ordnungsrahmen auf, innerhalb dessen sich der private Giiter- und Faktoraustausch
vollzieht. 5. In der freien Marktwirtschaft stellen die einzelnen Wirtschaftssubjekte selbstandig ihre
Wirtschaftspline auf. In die Pline der Unternehmen, die als Anbieter von Waren und
Dienstleistungen auf den Giiterméirkten und als Nachfragende nach Produktionsfaktoren (Arbeit,
Kapital, Boden) an den Faktormirkten auftreten, gehen als gegenstindliche GroBen die
InputMengen (in den Produktionsprozel eingehenden Giiter und Leistungen) und die Output-
Mengen (Ausbringungsmengen) und als deren geldwirtschaftliche Gegenwerte Kosten und Erlose
ein. 6. Ziel der Unternehmen ist, eine fiir sie vorteilhafte Differenz zwischen Erlos und Kosten zu
erwirtschaften, im Grenzfall dieser Differenz so grofl wie moglich zu halten. Die Koordination der
Wirtschaftspliane erfolgt tiber den Markt. ITosicuenust k Tekcty: 1 z.B. = zum Beispiel 2 etc. = et
cetera (J1aT.) — Hamp. = HaIpuUMep — U T.A4. = U Tak ganee 3 in Verbindung treten 4 d.h. = das heif3it —
31.: BCTYNaTh BO B3aWMOJICHCTBHE — T.€. = TO €CTh, 3T0 o3HauaeT VII. 3Has comepikaHue Tekcra,
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yKa)KUTE HOMEp MPaBWJILHOTO OTBETa Ha cieaytomuii Borpoc: Was flir eine Rolle hat der Staat in
der freien Marktwirtschaft? 1. Der Staat soll die unbegrenzten Bediirfnisse der Menschen z.B. nach
Nahrung, Kleidung, Dienstleistungen, Luxusgiitern etc. befriedigen. 2. Der Staat greift
grundsitzlich in die Plane der Unternechmen und Haushalt nicht ein, sondern stellt lediglich den
Ordnungsrahmen auf, innerhalb dessen sich der private Giiter- und Faktoraustausch vollzieht. 3.
Vorrangiges Ziel des Staates ist daher, das organisatorische Problem so zu 16sen, dall die Wiinsche
der Einzelnen so gut wie moglich befriedigt werden. 3-it Bapuant koHTposibHOTO 3amanus 1. 13
JAHHBIX NPEJIOKEHUH BBIMUIINTE M IEpPEeBEJUTEe TO, B KOTOPOM TIJaron ,haben* Breipaxkaer
nomwkeHcrBoBanue. 1. Die Internationale Regeln fiir die Lieferungsbedingungen regeln vor allem,
wer ab welchem Zeitpunkt das Risiko auf dem Weg der Ware vom Verkédufer zum Kéufer zu tragen
hat. 2. Sie erhalten sofort das Geld und haben keine Miihe und keine Sorgen mehr. 3. Berechtigte
Buchhaltern haben Daten aus der Rechnungskarte digital oder analog erhalten. II. Y3 manHbIX
NPE/IOKEHUH BBITUIIUTE U TIEPEBEAUTE TO, B KOTOPOM IJIaroJ ,,sein® BhIpaKaeT JODKEHCTBOBAHUE
i Bo3MokHOCTh. 1. Der wirtschaftende Mensch ist gezwungen, mit den knappen Giitern sparsam
und planvoll umzugehen. 2. Viele Absolventen der technologischen Fakultdt unseres Instituts sind
nach dem Fernen Osten gefahren. 3. Heute ist die Werbung aus dem System der Marktwirtschaft
nicht mehr wegzudenken. III. [Tepenumute npeanokeHus, BO3bMUTE B CKOOKH PAaCIpOCTpaHE HHOE
oTpenieNieHne, MOTYEPKHUTE €r0 OCHOBHOW WieH (NMpUYacTHe WM NpUiIaraTteibHOeE); NMepeBeanTe
npemioxenus. O6paszer: Die (an der Fakultit fiir Fernstudium und Externat des Instituts fiir
Technologie Nowosibirsk ausgebildeten) Fachleute sind in verschiedenen Betrieben und
Unternehmen der Leicht- und Konsumgiiterindustrie titig. — CrieruaarcTsl, MOATOTOBICHHBIC HA
dakynpre ®30uD HTU, paboTaroT B pazIUYHBIX OpPraHM3aLUAX U HAa SKOHOMHYECKUX
NPEINPUATHSIX JIETKOW MPOMBIIIICHHOCTH W MPOMBIIUICHHOCTH TOBAPOB IHUPOKOTO MOTPEOICHHUS.
1. Das sich vor allem in den USA schnell verbreitende Marketing war zundchst auf eine
Absatzaktivierung gerichtet. 2. Unter einer Messe versteht man eine zu einer bestimmten Zeit an
einem bestimmten Ort festgelegte Marktveranstaltung, die ein umfassendes Angebot fiir einen oder
mehrere Wirtschaftszweige bietet. IV. Ilepenuimre mpeTIoKEHHS, MOTYCPKHUTE OIPEICIICHHUE,
BBIp@KeHHOE mpuuactieM | ¢ zu; nepeBeaute mpemioxkenus. 1. Die zwischen den Unternehmen
festzustellenden Groe werden analysiert sein. 2. Alle zum Marketing zu zéhlenden geschiftlichen
MaBnahmen und Tétigkeiten regeln den FluB3 der Waren und Dienstleistungen vom Hersteller zum
Konsumenten. V. Ilepenumure u mnepeBenuTe MNPEJIOKEHUs, cojepxkaliie 000coOIeHHbIe
npuyacTHele oOopotbl. 1. Die Moglichkeiten der zweiseitigen Kommunikation, auch
dialogorientierte  Kommunikation genannt, werden zunehmend genutzt. 2. An einer Messe
beteiligend, erhalten die Unternehmen ein unmittelbares Interesse, Informationen {iiber ihre
Messebesucher. VI. [Ipoutute TEKCT U MEPEBEAUTE €rO YCTHO, 3aTEM MEPEHHIINTE U MEPEBEIUTE
IMHCHLMEHHO 3arjiaBue u ab3arbl 1, 2, 5. MARKT, ENTSCHEIDENDE
ORDNUNGSINSTRUMENT DES PREISMECHANISMUS 1. Das Wort “Markt™ ist auf das
lateinische Wort “mercatus® (Handel, Messe, Markt) zuriickzufiihren, dessen Stammwortl das
lateinische “merx* (Ware) ist. Unter ,,Markt* ist das Zusammentreffen von Angebot und Nachfrage
auch zu verstehen. 2. Aus den Plidnen der Wirtschaftssubjekte ergeben sich die angebotenen und
nachgefragten Mengen, die sich zu einem Gesamtangebot und einer Gesamtnachfrage
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zusammenfiigen. Das Verhiltnis dieser beiden GroBlen zeigt den Knappheitsgrad eines bestimmten
Gutes an, nachdem sie der Marktpreis bestimmt. Ist die angebotene Menge groBer als die
nachgefragte, sinkt der Preis so lange, bis die angebotene Menge der nachgefragten entspricht. Das
geschieht dadurch, dal3 infolge der Preissenkungen einige Anbieter aus dem Markt ausscheiden und
weitere Nachfrager hinzutreten. Der umgekehrte Proze3 spielt sich ab, wenn die Nachfrage das
Angebot Tlbersteigt. Daraus wird deutlich, da3 der aufgezeigte Preismechanismus in der
Marktwirtschaft eine bedeutende Funktion hat: er ist das entscheidende Ordnungsinstrument der
Einzelplédne. 3. Auf einem freien Markt herrscht uneingeschrinkte Konkurrenz. Durch das
Wechselspiel von Angebot und Nachfrage bilden sich die Preise. Ohne mit seinen Mapnahmen die
Preismechanik lahmzulegen, mup der Staat jedoch ab und zu auftretende Ungleichgewichtszustdnde
des Marktes sowie unsoziale Auswiichse2 des freien Marktes durch sog. marktkonforme Mittel
beeinflussen. Dazu zihlen MaBnahmen der Konjunkturpolitik3 wie der Geldpolitik, Regelungen auf
dem Gebiet der Steuern, des Zolls und auch der Sozialpolitik. 4. Der Preis zeigt an, auf welcher
Hoéhe Angebot und Nachfrage zum Ausgleich kommen (sog.4 Ausgleichseffekt des Preises). Wegen
der Giiterknappheit mufl immer ein bestimmter Teil der Nachfrage ausgeschaltet werden. Da das
iber den Preis geschieht, kann man ihn somit auch als das allgemeine Rationierungsinstrument der
Marktwirtschaft bezeichnen. Ebenso werden nicht konkurrenzfihige Anbieter vom Markt
verdrangt. Der Preis entscheidet also, wer am Markt bleibt und wer nicht. 5. Als Nachfragepreis
wird jener Betrag bezeichnet, den jemand fiir die gewlinschte Ware hdchstens zu zahlen bereit ist.
Dagegen kalkuliert der Anbietende vorher einen Angebotspreis, ermittelt also einen Betrag, den er
aufgrund seiner Kosten und Verdiensterwartungen fiir die Ware erzielen miipte. Durch das
Marktgeschehen pendelt sich sodann der tatsdchliche Preis ein.

VII. 3nas cogep:kaHue TEKCTa, yKAKUTe HOMEP NMPABUWJILHOI0 OTBETA HA CJeAYIOIIMiA
Bonpoc: Wodurch bilden sich die Preise?

1. Durch die Plidne der Wirtschaftssubjekte ergeben sich die angebotenen und nachgefragten
Mengen, die sich zu einem Gesamtangebot und einer Gesamtnachfrage zusammenfiigen. 2. Durch
das Wechselspiel von Angebot und Nachfrage bilden sich die Preise. 3. Durch die Giiterknappheit
muf} immer ein bestimmter Teil der Nachfrage ausgeschalte.
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[Tpunoxenue Ne 3
K1 4.2
KOHTPOJIbHBIE BOITPOCHI IO JUCHUNIJIUHE «[TPOPECCHOHAJIBHBIN
WHOCTPAHHBIN SI3BIK»

1. Ilonarue mapketunra. Uto Takoe MapkeTuHr. OCHOBBI MapKETHHT .
2. Pexnamuas pgestenbHOCTh. Buasl peknambl. [lcmxomoruss pexnmambl. PaspaboTka
YCIIELIHBIX PEKJIAMHBIX KOMIIAHUM.

3. [lepconanbublit MapkeTUHr. CpeacTBa U TEXHUKU MOACPHKAHUS IETOBBIX CBA3EH C

napTHEPaMH.

4. YrpaBieHue mpolyKTOM.

AHam3 MapKeTUHTOBOW MH(POPMALIMH MPH MPHHATHH YIPABICHYECKUX PEIICHUH B IpoIecce
YIPaBIEHUS NPOAYKTOM, IIPOJBUKEHUS €TI0 HA PHIHOK.

5. YnpasieHnue o011eCTBEHHbIMU OTHOLICHUSIMHU.

CBs13u ¢ 1€70BBIMU IIapTHEPaMU. PaciiypeHne BHEIIHUX CBsI3€H NpU pean3aluu IPOEKTOB,
HaIIPaBJICHHBIX HA Pa3BUTHE OPTaHU3ALUN.

6. MapKeTHHIOBbIE UCCIIE0OBAHMSL.

MapKeTHHIOBbIE UCCIIE0BAHUS [IPU U3YYCHUH BO3ICHCTBUA MaKPOCPEIbI HA AEATENBHOCTD
OpeanpUsITHi. AHAIN3 KOHKYPEHTHON cpeibl. MOHUTOPUHT MOTPEOUTENHLCKOTO OBEIEHUS.

7. MapKeTUHT B aHTUKPU3UCHOM YIIPaBJICHUU.

MapkeTHHr B3aMMOOTHOIIEHUH. AHAIN3 PHIHOYHBIX U CIIEHU(PHUECKUX PUCKOB MPU
pa3paboTKe MapKETUHIOBBIX aHTUKPU3UCHBIX CTpAaTernii. AHAINU3 BIUSHUS Cpebl. DKOHOMHUYECKHUE
OCHOBBI TIOBEJICHUSI OpTaHU3aIMii, TOTpeOUTEEH.

8. bpenamapkeTHHr. MapKeTHHT PBIOHBIX TOBAPOB.

Uro takoe OpeHamapkeTuHr. HamaxxuBanue eI0BbIX OTHOIIEHUH C UCTIOJIb30BAaHUEM
TEXHOJIOTUH OpeHAMapKeTHHra. POpMHUPOBAHUE MOJIOKUTEIEHOTO UMHJIXKA.

9. lHTepHeT - MapKETHHT.

VM HHOBAaIMOHHBIE TTOIXO0/1bI IPOJABUKEHNS TOBAPOB U YCIYT C UCIOJIb30BAaHUEM TEXHOJIOTHN

WHTEPHET- MapKETUHTA.
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